
Munich Personal RePEc Archive

Evolution of Tax Evasion

Lipatov, Vilen

European University Institute

June 2003

Online at https://mpra.ub.uni-muenchen.de/966/

MPRA Paper No. 966, posted 29 Nov 2006 UTC



��������� �	 
�� ���
���

����� �������∗

�������� ������
��� ��
������

�������� �� ����

��������

�� ���
 �����  � �����!� � ��� ���
��� "���  ��� ��������
 �������" ��

���������# �	 ��� ��������� ������
 �� � $��% ��%����" ������������ � ��
�����


���� �	 �������" �
 �������% �� �&���������# 
��
 
���%
 �� ������
� �� ���

���
���" ���������� ���� ����%
 	��� ���������� �	 ��%���% ��������
  �� ���

��������� ���� � ��� �	 ��	�������� ��% ���
 %� ��� ���% �� ��������# '���

��� ��������� �%(�
�
 ��%����" ����������� ����� �����%� ������" �� �������")

��%����" �����
# 
��
� ��� ���� ��	� ���������� �	 ���������� *���������
 �


��������%  ����� ��� ��%�� ������ ���� �� ���"����
 ��������� 
��	�
# ���

������	
����
+ ,-.� /��

��������+ ��� ���
���� ���������� �������"

� 	
����
����



�� ��"����%� ��% ���������� �	 
��%� 
����� �
 ���% �� �����
������# 0�
� ��

������� ��� ��
�� ��� �1���� �
������ �	 ��	����� 2�3 	�� 4�

�� �
 ����� 567 �	

	����� 2�3 �� ��� ������ ����
5# 8 	��%������� �
���� �	 ��� ��	����� ���������
 �


��� ������	�  ���� �
 �
����� %�$��% �
 �� �9��� �� �� �� ���:
 ��� ��������� �� ���

 �� ���������% �� �� # 
�� ����� ���
�%��
 �����
����� ���
 ����������� ������"

∗� �� "����	�� �� 2��"�� ���"�
� ����% 3���!),�
������� 4��; ��� %�� 3���" ��% <��� =����" 	��

�������� �������
#
58 
������ �	 ������ �������
 �� �
������ ��� 
�!� �	 ��� ���
���� ����%���� ��% ����� ��	�����

���������
 �
 "���� �� =�����%�� ��% ��
�� >����?# 
�� ��
���
 ���� � ���  ��� �����% ��% �������

���
�%���%@ ��� ������ $�%��" �
 ���� ��� 
��%� 
����� �
 "�� ��" ���� ����#

5



��� ����%���� ��% �������� ���������
 �
�%�# =����$������ �� �
 %�����% �� ��� ������

��� ���
����  ���� ��
 �������% ��� ��
� ��������� �� ��� ����������� ��%����" �	

��� ���
���# =��� ��������� ��� �� ��������� ���������% �� ��� ���
����� �	 ����������

�������� %��� �� ���
 ������ >
�� ,��������� A��
������� 3��"��� >
,A3? �� ���

�=?# 8������ ���
�� ��"�� �� ���%����� 	���%�% �� ��� 
������ ��%�� �	 8����"���

��% =��%�� �� 5.-�#

8 %������% 
����� �	 ��� ��%��
 �	 ������ ��� ���
��� ��� �� 	���% �� 8�%������

����% ��% B���
���� >5..C?# 
��� �%����	� � � %��������
 �� ��� ��%����" �	 
�����"��

����������� ��� ��� ��������
 ��% ��� ����������
+ ���������)�"��� �������� >�# "#�

��
�� ��% ��
��� >����?? ��% "��� ��������� �������� >�# "#� 4���"���� ��% '��%�

>5.C�?� ����% ��% B���
���� >5..D?� 3���� E��%
��� >5..-?� '��� '��� >����??# E���

���������
 ����� ��� ��������
 �
 � 
��"�� ������ ������!��" �������% ����9 �	 �����)

��"# 8�� ��� ���������� �� ��� ���
���  � ��� � ��� �	 ��������
 ��� �

������� �	

�� ������������� ����" ��� ��������
# �� ������� �� ���� � �������� �
 ��� ��

�
�����% %���
��� ��;��� 
��6�� ����
 �� � 
������ ��% ���
������ ��������
  ��� �����

��������
#


��
 ����� �
 �� ������� �� ����� ��� �

������� �	 �� 
����� ����������� ����"

��� ��������
� ����� ��
 ���� 	������ �
 �� �������� ����������!����� �	 ��������
:

�������������# 
��
 �
 �������% �� �
��" ��� 	���� ��; �	 �������" �� "���
# 
��

���� �	 �������"  � �
� �
 ���������# F�� ��������
 ��� ����%�%�� ��������� ��% ����

%���%�  ������ �� ����� �� ��� ����� %����%��" �� ����9
 	��� �������" �������%

�� ��� �������
 �����% �� ����
����
 ��% �� ���
�  ��� ���� ����# 
��
 ��� ��

������
��%  ��� ���� �������� E���
��� ��%����"� 	�� ��
�����  ��� ��� �"���
 ����

�����
 �� ��� ����������� %�
��������� �	 ��%����" �����
��� ��% ����� ���� ����� ���


%�
��������� �����"� ����� � � ���� ��% �����������  ��� �����
# F�� ��%�� ������


� ������ �	 
����!�% 	���
 ����� ���
���#

B��
�� �� ������� ��������
 ��

�

 ���� ;�� ��%"� �	 ��%�� ����
� �
����� �����
)

�������" ��� ����������� �	 ��%�� >8�%����� �� ��# 5..C?# �� ��� ��%�� ���� %� ���

;�� ��� ��� ������ ������� ������
 �	 ����� ��%���%���
# F���� ��

���� 
�����
 �	

��	��������� 
��� �
 ��%��� ��� ��� ���
�%���% 	�� ��� 
�;� �	 
���������# =����%�

������� 	������ �	 ������� ) ������"����
 ��	�������� ��������
 ��

�

 ) �
 ��*����%

�� ��� ������� %�
��������� �	 
�����"��
 ��� ��� �������" ��% ��� �������"# 
���%�

��� ����  ���% ��� ��������� �
 �� ��"���!����� ���� ���
 �� � 
��
��������� %�9�����

 �� ���� �� ��%���%��� ��������# 
��
 ��"���!����� ��
 ��
�����
 ��% ���������
 ��

�



"����� ��� ��������� ��	���������  �����
 ����� ��%���%��� ���	��
 ��� �� ����� ��
�
 �	

��	�������� ����������# 
�� ��%�� ��*���
 ���
 �
������� %�������+ ��� ��� ���������

�
 ��%����" ��
 �����	 ����� ��� %�
��������� �	 ��� ��������
�  �����
 ���� �	 ���

��������
 (�
� �������
# B������ ��� ���
��� �
 �� ������������� %���
���# 
��
 �



�������% ����" �����
 �� ��� ��"�� ��% /���
: 
��%� >5...?# �� ��� 	���� ��; ���

��%���%���
 ���� ���)�����% ������ ���� ���� 
 ���� �� ����
� � 
�����"� �����)

�� �� ��� ��
�
 �	 ��%��:
 ��
�������� �	 ��� �������� �	 ��� �����
 ��% ����� � �#

8
 ��� ������ ��������" �
 � ���� >������? ������ 
���� ������ ��� �� � ����
����

�

�������#


��
� 	��� 	������
 ��� ���
�%���% �� � 
����� ���
��� �	 ��� ���
��� ��������  ���

� � �����
 �	 ������ ��% ����"����
 ���������� �	 �� )������ ��������
# �����)

��" ���� �
�% �� ��� ������
 �	 ���
 ���������� �
 � 
����� ��������� �	 � ������)

���	�����" 
�����"�# '� ���
�%�� ����� 
�������
 ���� ���� �����%��" �� ��� ������

�	 ��	�������� �	 ��������
 ��% ����� ������%� �� ��%
 ����
�����#


�� ���� ��
��� �	 ��� ��%�� �
 ��� ������" %������
 �� "�������
# �� ��� 
�������


���
�%���%� ���� ��� 
���� �	 ���%��" ��������
 ��% ��� ��%����" �����
��� �	 ���

��������� ������� *���������
 "����" ��
� �� 
����� �����
# 
�� 
�
��� �
 ������"

�����% �� ��
����� 
���%� 
����� ��  ���� ��� 
���� �	 �������
 >������ ���%��" �����

���? �
 ��� 
��� �
 �� ��� G�
� �&��������� �	 ���)
��� "����  �����
 ��� ��%����"

����������� �
 ��� ������% �� ��
 G�
� �&��������� �����# 
��
 ������
 �����
� ��

��� "��� ��� �������" �
 �9�������� %��������% �� ��� ����������� �	 ��� ����������

 �����
 ��� �����
��� �	 ��%����" �
 �������� �
�����
��% �� ��� �������" ���� ��%

���������
 �	 ��� "���#

B��� ��� %������
 "�������%  � ��� 
�� ���� �� ���
���� �	 ����%�%�� ��������

�"���
 ��� �&��������� ���� %��
 ��� �������� �����# 
����	���� ��� %������
 �


����

��� �� �� ��;�� ���� ������� �� ��%�� �� ��;� �������� ��	������ ����� ���

 ��	��� �9���
 �	 ������
 �������
# 
�� �
�������� �	 
��� �9���
� �� ����� ��&����


����������� �	 ��� ���������
 �	 ��� ��%���  ���� �
 � 
������� �

��#

F�� ��%�� ���������
 � ������ �	 
����!�% 	���
# B��
���� ���)!��� �������" �	

��%���% ��������
 �
 �������% 	�� ��� ���������� ��
��  ���� �
 ��������� ���� ����)


���� ���� ��
����� ����
�� �	 ��� ��
� �	 ��� ������������ ���������)�"��� ��%��


>	�� �������� =�����! ��% =���� 5..7� 8�%����� �� ��#5..C?# =����%��� �� ��� ���)

���������� ��
� ��� 	���� ��" 	������
 �	 %������
 ��� ��������%+ %�����
��" ������)

���� >2����!� 4���"���� ��% '��%� 5.C�? ��% ��%����" ����������� >������ 2����!

7



��% '��%� 5..�� 8%����� �� ��# 5..C� �#C��? ��
����% �� ��� �= �� ��� 
����% ���	

�	 HH �������� �
  ��� �
 ��� ������ ������
� �� ��%����" �����������  ��� ���������"

%�����
� �	 ���������� >=�����% ���D� �#5?# 
��
� �������
 ����% ��� �� ��������%

�� ��� ���������� �� %��� 
���� ���� 
����� ��%��
  ��� �
�%#

8%%���������� �� ����������� ����������� 	�� ��� ��!!�� �	 ��� ���� ���������� �


�9���%# �� �
 ���"��� %�
��

�% �� ��� ���������� ���� ������ ������ ���� ���� ����

� 
����� ������� ��%�� �	 ���
��� ���%���
# F�� ��
���
 
�""�
� ���� ��� ���
�� ��"��

��� �� �� ��� ���
���� �	 ������
������ ����
� ��������
�� ��� �� ��� 	��� ���� ���


�
��� �
 	�� 	��� ��� �&���������# 
��
 �
 ��
� ����
�����% �� ��� ���������� ��
�+

�	 ��� 
���� �	 �������" ��������
 �
 ���� ��
 �&��������� ������ �� 
���
 
� 	�������

��% �� ���;
 �
 �	 ��������
  ��� �������" ��� ������#


�� ��
� �	 ��� ����� �
 ��"���!�% �� ��� 	���� ��"  ��# =������ � �������
 ���


����� 
����� "���  ���� �
 ���� �����% �������%��# �������
 �	 
��� ���� �
 �����!�%

�� 
������ 7�  ���� %�9����� �������" ����
 ��� ���
�%���%# ��%������" ��� ��
�����

�����"� ����9 ���� �
 ��� ���� �	 ��"� ��������� �	 ���
��� ��% ��� �

�������

���� ��������
 
���� ����" ����
����
 � ��� �	 ��	�������� ����� ���
���# 
��

�9������ ����
����� ���� �
 ��

 	�������� �� ��� �������"� ��� ;���
 ��"� ��	����������

��&��������# 
�� ���������� ���� �
 ���
� �������"��" 	�� ���
���� �� ��
� �

���


������� ��	�������� �����������% ��� ��� ��������
# ,�����%��" 
������ 
���

�


����������
 �	 ��� ��%�� ��% �������
 ��
 ��

���� �����
���
 ��% �����������
# 8��

�����
�����
 �� ��� ����� ���� � ������ �����
���%��" �� � �������" ����+ I8I 	�� ���

�����"� ����9� I�I 	�� �9������ ����
������ ��% IAI 	�� m �"���
 ������"#

� ��������� ���� ������� � ������ �����

8
 � 
������" ����� 	�� ��%����" %������
  � ��;� � 
����� ���)
��� "��� �	 ���

���
���� ��
�% �� 2����!� 4���"���� ��% '��%� >5.C�?# ������
������ ����
� ������)

��
 > �� ��� ��� ���%� 	�� ����� ���
��
? ��� ���������% 	��� ���� ��%��� �
 �����

���
���� %��
 ��� ����"� ��� ��
���
 �� ��� "���� 
����# 
�� �����" �
 �
 	���� 
+

5# 
�� ������ ����
�
 ������ 	�� ���� ��%���%��� 	��� � � �����
� ��"� H  ���

����������� γ ��% �� L  ��� ����������� 1− γ@

�# 
�������
 ������ ����� ������� ����
��"  ������ �� ���%� �� ���@

�
��
 �
 �� ��� ��!!�� �
 �
����� ��
����% �� ��� ���������� >	�� ��	������
 
��� �#"#� =�����%

>����??#

D



7# 
�� �"���� %���%�
  ������ �� ��%�� �� ���#

�� �
 ������
� ���� �� ������ ������ ����� ����
� �� ���%�� �����
� ���� ���

��%���% 	�� 
���� �	 ���� ������ �������" �� �� ���� L# 8� ��� 
��� ����� ��� ��"�

������ ������ ��� ���%�� 
����  ��� � ������ L ��� �"���� %��
 ��� ;�� �  ������

�� 	���
 � �����	�� ������ �� ��� �� �� ������ ������� �� �������" 	��� ��� ��"���

������ ���
# 
��� ��� "��� 
�����$�
 �� ��� ��� ��� ��� ��"��� ������ ������ ��%

��� �"����+

audit not audit

cheat (1− t)H − st(H − L), tH + st(H − L)− c H − tL, tL

not cheat (1− t)H, tH − c (1− t)H, tH

 ���� t �
 �� ������ ��� ����� s �
 � 
������"� ����� %���������" $�� 	�� ��� "����

������ �	 ��� ���%�%� c �
 ��%�� ��
�@ ��� �	 ���� ��� �

���% �� �� ���
���� ��%

���"����
�� "���� 	�� ��� ���)���
��" ��%�7#


��� ��� ��� ��������� ������!�
 ��
 �������% ������� ����
��" ��� �����������

�� ��%�� p "���� ����������� �	 �������" q+

p(
qγ

qγ + 1− γ
(tH + st(H − L)) +

1− γ

qγ + 1− γ
tL− c) + (1− p)tL >5?

 ���� �
 ������ �� ����������� %�� �� ��������� �	 ��%�� ��
� 	�������# 
�� ����������


	�� ��� ����9
 ��� ������������
 �� ���� ����

 ��"� ������ �������
 >qγ? �� �� 

������ ����
� ��������
 >1− γ? "���� ���� ���� �� ������ ������
 ��� ��%���%#

B��
� ��%�� ���%����� ���%
  ��� �&������ 	�� ��� ����� �	

q =
1− γ

γ

c

t(1 + s)(H − L)− c


��
 �
 ��� ����� �	 �������" ����������� �� ��� ���&�� ����% 
�����"��
 G�
� �&�����)

����#

8 ��"� ������ ��%���%��� ������!�
 ��
 �������% ����9 "���� ����������� �	 ��%��+

pq ((1− t)H − st(H − L)) + (1− p)q(H − tL) + (1− q)(1− t)H >�?

7��%�"����
 %������������ �	 ��� ��% ������� ���� �
 �� ������
���" ��
;� ��� �� ���
������
 ���

������� �	 � "��������� ������ ���� � ��� ���������# A�������� �� ��
 ���� ���"��� %�
��

�% �� ���

����������� 
��� 	�� �������� ,� ��� >5..�?#

�



 ���� �
 ��
� ������ �� ����������� �����
� �	 ��� ������ �	 �������% �������# 
��

�&��������� ����� �	 p �
 1
1+s

.

=����� ����������� 
�����
 
�� 
 ���� ��%����" ����������� �
 %�����
��"  ��� $��@

��� ������ �	 ���
��� �
 ������
��"  ��� ��
�
 �	 ��%����" ��% %�����
��"  ��� $��� ���

����� ������ %�9�������� ��% 
���� �	 ��"� ������ ������# 8���" �����
�  � ����������

�

���% ���� ������ ��� ��% ������� 
�����
� ��
; ������� ��%���%���
� ��% ������ ��
�

	������� 	�� ��� ��� ���������# ����  ��� ���
� 
����" �

�������
� ���
�%����" ���

%������
 "�������% �� ��� "��� ���� 
 �� "�� 
��� ���)������� ��
�"��
 �	  ��� ����%

�� "���" �� �� �������#

� ��
�����

G� ���
�%�� ��� "��� ���
����% �� ��� �������
 
������ �����% ����� �����% 	���

0 �� ��$����# 8
 ��	���� ��� ����������
 �	 ��"� ������ ��% �� ������ ��������


��� ��$���� 
�!�  ��� ���
���
 �	 γ ��% 1 − γ ��
���������� ��% ���
 �
 � ������

;�� ��%"�# 
�� ���������� qτ �	 ��"� ������ ���������� �
 �������" �� ��������" �� 

������ �� ���� τ � ��� �"���� �
 ��%����" ��� �� ������ ������
  ��� ����������� pτ #

=����  � ���
�%�� � � �""��"���% �����
 �	 ������� �� �
 ����
���� �� �

��� ����

��� ������ ;�� ��� ������ �	 ���
�  ��� ���� ��������  ���# �� ������� ��� �����
�

������ �	 ������ �
 ��� ;�� �� ���  ������ � "���� ���
�� ��
 ��"� �� �� ������ �


��
��� "��

�% 	��� ��
������� �� ����� ��������
 ����������
���
# E�� ��� ���������

%��
 ��� ��
���� ���
� ����������
���
� 
� ��� ���� �	 ������ �
 ������� ;�� ��%"� �	

��� �"���
  �� ����# F� ��� ����� ���%� ��� ����������� �	 ��%����" p �
 � �������

;�� ��%"� �	 ��� ���������# E�� ��� ��� ����%
 ��� ��� �"���� ��%���
 ��
 �����	

����� ��� %�
��������� �	 ��������
 ��� ��� �������" ��% ��� �������"� ��� ��"�

������ �"���
 ��� �������"  ��
� 
�����"� ���	���
 ������#

����
������� �	 ��� ����� �� ���� τ ����� ��� ��� 	���� ��" ����
 �	 ��"� ������

��������
+ >�? ����
�� ������
��" ���������� 1−qτ �	 ���������� ��% ��������" ����9
(1− t)H@ >��? ���"�� �������"� qτpτ �	 ����������  ��� ����9 (1− t)H − st(H − L)@

>���? ��� ���"�� �������"� qτ(1− pτ) �	 ����������  ��� ����9 H − tL#

G��� ���� ��� ����9  ��� ��� �������" �
 ��""�� ����  ��� �������" ��% ���"���

��� 
������ ����  ��� �������" ��% ��� ���"��# 
�� ��� �"���� �
 ������!��" ��


���")��� �������% ������� �� ����
��" ��%����" ����������� 	�� ��� �����%
 >������)

����?� �� ��
 �������% ������� �� ��� ���� �����% �� ����
��" ��%����" �����������

�



	�� ��� ���� �����% >�� ����������?#

8
 �� ��
 �����%� ���� ��������%�  � ��� ��� ��;� � ���%� �""��"��� %������


	�� ��� ���������� �	 ��������
 �����
� �	 ��� �
�������� ������ �	 ��� ������
+ ��

��� �� ���������� ��
� ��� ��� ��������� �
 �
��" ������ ��
� ��
���
��  �����
 ���)

�����
 ������� ���� �����# '������ 
��� �
�������� ��� "��� ��
�����
 ���������

%������
 �
 �� �
 %�$��% �� B�%�����" ��% ������ >5..C?�  ���� �
 ;�� � �� ������"�

�� ���������� %������
 ��%�� 
��� �

�������
# /� ����� ���
� �

�������
 ��� ���


���
$�% �� ��� 
����+ ��
� 
���;��"��� ���� ��%���%��� �����������
  ��� ���� ����

��� �����# ��� �� ���
 	������� ���� ����9 ������������ �	 ��� �""��"��� %������


��� ��� �� �
�����
��%# 
��
�  � ���� �� %����� �""��"��� %������
 ����� ���� 	���

��� ���������� ��������� ����
#

�� ��%�� �� ������%  � ���� �� 
����	� ���
� �������" ����
#

��� �����
� ��� ������� ������� ����� ���
�����

8� �"��� 8 ����
 �"���
 E ��% ,� ���� �	 ���� ��
 �����% 
�����"��
 sA, sB, sC . �	

sA �= sB = sC� ��% �����"� ����9 �	 E ��% , �
 "������ ���� ��� ����9 �	 8� ��6
��


 �����
 �� ����� 
�����"�# �	 sC = sA �= sB, 8 
 �����
 �� ��
� ��� ����9 �	 E �


"������# 
�� �����"� �	 ���"�� ��% ��� ���"�� ����9
 �
 ��""�� ���� ��� ����9 �	

����
� >(1− t)H − st(H −L)+H − tL > 2(1− t)H? 	�� ����
���� ����� �	 $�� s < 1#
8
 � ��
���� �� ����
� �������� >������ ����  � ���� 1 − q �	 ����? 
 �����
 ��

�������"� �	 �� 	���
 ������ � � ���)���"�� �������
 >���
 ������
  ��� �����������

((1− p) q)2? �� � ���)���"�� ������� ��% �� ����
� �������� >(1− p) q (1− q)?# ��

������
 ����
�  ��� � ������������� ����������� >1−((1− p) q)2−(1− p) q (1− q)?#

8 ���"�� �������� >����� ��� pq? 
 �����
 �� ����
�� �	 �� ��
����
 ������ � � ����
�

��������
 >(1− q)2? �� �� ����
� ��% � ���"�� �������� >2pq(1− q)?# 8 ��� ���"��

�������� ����� 
 �����
#

=�����" ��� ��� ��� ����%
 (1 − q + qp)2 �	 ����
� �"���
 ������ ����
�� ��%

(1− q)(1− q + 2qp) �	 ���"�� ��������
 ������ ����
�# 
��
�

1− qτ+1 = (1− qτ)
�
(1− qτ + qτpτ )

2 + pτqτ (1− qτ + 2pτqτ)
�

>7?


��
 �&������ %�$��
 ��� �""��"��� %������
 �	 ��� ����������  �  ��� ������
��% ��#

8
 ��� �� 
���� ��� ���������� �	 ����
� ��������
 ������� �
 ���������� %��������%

�� ��� ���������� �	 ����
� ��������
 ��%�� ��% ��� ����������� �	 ��%����" ��%��D#

DG����� ���� �� ��
 ������" �� ������  ��� %�
����� ���� �������������
 �	 ���������� %������


-



'� ��� �� 
��  ��� 	������
 ���
 %������
 ��

�

� �������  �  ��� �� ;��  ������

��� ���������� �	 ����
� ��������
 �
 
����;��" �� �����%��" �
 ���� ��

�
# B�� ���


�����
� �� �����
 �
�	�� �� %�$�� � ����
���% ����� �	 �������" �q �


�q :=
2− 3p

1− 3p+ 3p2


�� 	���� ��" �����
����� 
�� 
 ���� ��� ��������� �	 ��� �������" 
���� ���������

%����% �� ��� ����� �	 ��%����" �����������# '� %��� ��� ���� 
��
����� τ 	�� ���)

��������  ������� ��� ��� ��������
 �����" �� ��� 
��� �����%#

 ���������
 �� ,��
�%�� ��� %������
 �	 ��� 
���� �	 ���%��
 q 	�� ��� �����"�

����9 ��������� %�$��% �� >7?# 
�� 
���� �	 ����
� ��������
 �� ��� ����

�����% �
 �� �� ���� ���� �� ���
 �����% �	 ��%����" ����������� �� ���
 �����% �


p ∈ [0, 1√
3
). �� �
 ��"��� �� ��� ���� �����% �	 p ∈ (2

3
, 1]# B�� p ∈ ( 1√

3
, 2
3
) �� �


�� ��� �	 q < �q ��% ��"���� �	 q > �q#

8�� ����	
 ��� ��	� �� ��� �����%��# ���������%��� �� ��� 
���� ��%%�� ���������

����"� �� ��� ���������� �	 ����
� ��������
 �
 ��"������� ������% �� ��� ������

�	 ��� ����
� ��������
# 
��
 I����)
����I �9��� �
 ��������% �� ��� ��"� ����"�

%�������� ������������ 	��  ���� ��� ���"�� �������
 ���������� ���� �� ��� ������
�

�	 ���������� �	 ��� ����
�� ���� ��� ����
� ����
����
#

B������  � ���
�%�� � � ��
�
 	�� ��� �������� �	 ��� ���������# �	 �� �
 ������ ��

�������� ��
 ��%����" ����������� ��% ;��� �� 	�������  � ��� �� ��� J"��� ���������J

	���� ��;� ��% ��� ��� %������
 ��
 � � %����
���
+ �����%� %�����% ��� 	�� q ��%

������� ��� 	�� p# '� 
����� �� �����  ��� � ���� 
����� ��
��  ��� ��� ��%����


��� ���%���� ������ �� � ������� ���
���� �� ���� 
�����"� >�����������?� ��% �����

��� %������
 �
 ������
��" �� ��� %����
���#

����� ��������
�

8

��� ���� ��� ��������� ������
 �� � ������� ��%����" ����������� p ���� ��%

	������ >���
 �����
���%
 �� ��� ���������)�"��� 	���� ��; %�$��% �� 8�%����� �� ���

5..C?# ������" q0 �= 0 ��% q0 �= 1  � ������ 	��� ��� �����
����� 58 ��� 	���� ��"

���������+

�� ��� �����  ���);�� � %������
� �
  �
 �������%#

C



��������� �� ��� ���
��� "���  ��� ��� �����"� ����9 %������
 %�$��% �� >7?���

lim
τ→∞

qτ = 1  ��� p ∈
�
0, 1√

3

�
� lim
τ→∞

qτ = 0  ��� p ∈
�
2
3
, 1
�
, ��% lim

τ→∞
qτ = �q

 ��� p ∈
�
1√
3
, 2
3

�
.

��� �
 %�$�� � 	������� q̂ (p) : [0, 1] → [0, 1] ���� ���
 � 
�� �	 ��

���� ��%����"

������������
 ���� � 
�� �	 ���")��� �������
 �	 q. 8
 ��� ��������� 
����
� ���
 	�������

��
 � 	���� ��" 	���+

q̂ (p) =






1, p ∈
�
0, 1√

3

�

�q, p ∈
�
1√
3
, 2
3

�

0, p ∈
�
2
3
, 1
�


�� ��������� ����
�
 p �� ������!� ��
 ����9

γ(1− q̂(p))tH + p(q̂(p)γ(tH + st(H − L)) + (1− γ)tL)

−cp(q̂(p)γ + 1− γ) + (1− p)(q̂(p)γ + 1− γ)tL
>D?

��� �
 ���� ��� ����������� ���� ������!�
 ��
�
 �����

��� ��� ������� ��%����"

����������� p∗# �	 p∗ ∈
�
1√
3
, 2
3

�
� �� 
���
$�
 ��� $�
� ��%�� ���%�����

(1 + s)(�q + p�q′)− �q′ = � [1− γ + γ(�q + p�q′)] >�?

 ���� � := c
t(H−L) #

G��� ���� p∗ /∈
�
0, 1√

3

�
��% p∗ /∈

�
2
3
, 1
�
�����
� 	�� ���
���� q ��� ��(������

	������� �
 ������ �� p. B����������� p = 1 �
 ����� ������� �����
� ��� ��(������

	������� �
 ���)������
��" �� ��� ��������
�
2
3
, 1
�
. /����� ��� ���� � � ��

��������


	�� ������� p ��� p∗ = 0 ��% p∗ "���� �� ��� $�
� ��%�� ���%�����
# 
��
 �
 ����

	�� ��� �������" ����
 ���
�%���% �� ���
 ������ 
���� ��� ��"����� %��
 ��� �
� ���

���������
 �	 q(p) ����� 	��� %�9�������������. �� ��� 	���� ��" �����
�����  � ���; ��

� ���%������  ���� �
 
���
$�%  ������� ��� ������� p �
 ��
����� >���
  ��� �� �����%

�������� 
������� �����	����?#

 ���������
 �� '��� ��� �����"� ����9 �������" ����� ��� ����

��� ���%����� 	��

�������� 
������� �


−1/p∗ + (2− 3p∗) s + 2
1− 3p∗2 + 1

γ
(1− 3p∗ + 3p∗2) > �

G����� ���� p∗ �� ��� �����
����� �
 �� ��
��	 %����%��" �� ��� ����������
 �� ���

��%��# =����  � ;�� � �� ����� ���� �� �
 ������% �� ��� ��������
�
1√
3
, 2
3

�
�� ��� ��
�

.



�	 �������� 
��������  � ��� 
���� ��	�� 	��� ���
 �����
����� ��� %�������� �	 ���������

����"�
 ����  ���% ����" ����� �������� 
�������#

G������ 	�� ��"� �����
 �	 c ��% �� �����
 �	 γ, s, t,H >��% ����� ��"� ��
 ��%

�� ��
? I�� ��%����" ) ��� �������"I �&��������� �
 ���
��# G����� ���� �� p = 1√
3

���
 ���%����� ����
����
 ���� γ(1 + s) > �@ 	�� p = 2
3
���� 4.5 γ

1−γ > �. B��� ����

���&�������
 �� ��� �� 
��� ���� ��� �������� 
������� %��
 ��� ���
�� �	 γ �
 
���� ��������

�� �# 
��
 �
 ��
� �� ���������+  ��� 
���� 
���� �	 ��"� ������ ������ >γ? ��% �� 

����$� 	��� ��%����" >stH? �� �
 ������ ��� �� ��%�� �����%�� "���� ���� �� �
 ��
���

>c?#


�� ����������� 
�����
 	�� ��� �������� 
�������� "���
 ��� 	���� ��" ��������


>���� ���% 	�� ����� �������" ����
 ���
�%���% �
  ���?+

dp∗

ds
=

q + p∗�q′

�q′′ − (1 + s− �) (2�q′ + p∗�q′′)
; >�?

dp∗

d�
= −

�q + p∗�q′ + 1
γ
− 1

�q′′ − (1 + s− �) (2�q′ + p∗�q′′)
; >-?

dp∗

dγ
=

�/γ2

�q′′ − (1 + s− �) (2�q′ + p∗�q′′)
. >C?

 ���� ��� �������� �
 �q = �q (p∗) , �q′ = �q′ (p∗) , �q′′ = �q′′ (p∗)# '� ;��� ���
 ��������

�����	����#


�� 
�"� �	 ��� �	 ���
� %���������
 �
 ����"���
� ��% $�
�  � %����� ��� ���%�)

����
 	�� ���
� %���������
 �� ���� �������% 
�"�
# E� :�������%:  � ���� ���� ���

��������� ����"�
 ��� �� ��� 
��� %�������� 	�� ��� ��
�
 �	 ���������
 �%(�
����� ��

��� �������� ��% %�
���������
 (��� �� ��� ���%��# B�� �������� 
���� ������
� �� γ

����"
 ������ ������
 ������
� ��� �������� 
������� �� �� ���� ��;����  � ������ �� ��
�

�� ������
� ��%����" ����������� �� ���
 
�������� ���� �
�  � ������ dp
∗

dγ
> 0. =���������

 � ������ dp
∗

ds
> 0 ��% dp∗

d

< 0.


���� 	�� ��� ��%����" ����������� �� ������
� �� ��� ���������� �	 ��"� ������

������  � ���% �q′′ − (1 + s − �)(2�q′ + p∗�q′′) > 0@ 	�� �� �� ������
� �� ��� 
������"�

����  � ���% �� �%%����� �q + p∗�q′ > 0@ �� %�����
� �� ��
� ) ��� ���������� ����� � ���

� � ���%�����
 ����� 
�1��# =�� (������ 	�� ��� �������% 
�"�
  � ���%

�G��� ���� ���
� ���%�����
 %� ��� ���% �� ��� ���%��� �#"# 	�� p � �

�
.

5�



−2(1 + s− �)�q′ > �q′′ ((1 + s− �) p∗ − 1); >.?

�q > −p∗�q′. >5�?


� ��������� ���� �� ���
� ��������
�  � ���� �� �
� ��� ;�� ��%"� �	 ��� ������)

���� 	������� �q(p)�  ���� �
 
����$� �� ���� �������" ���������#

 ���������
 �� B�� ��� �����"� ����9 ���������� ��� 
���� �	 �������
 �q �� ���

�������� 
���%� 
���� �
 � %�����
��" ��% 
������� ������ 	������� �	 p� �#"# �q′(p) <

0, �q′′(p) > 0.

�
��" ���
 �����
������ 	��� .  � ��� ����%������ 
�� ���� ��%�� ��� ��
� �����"�

��������� dp∗

dγ
> 0 	�� ��� ��
����� ��������� �����
 >��� "�������!����� �	 ���
 ��
���

�
 ���
����% �� ��� �����%��?� s = 0.8, t = 0.3� c
H−L = 0.06 (� = 0.2), γ = 0.5#


�� $�� �
 �
����� �� �� ��� ������ �	 ��� ���%�%� ��% � ��;� 20% ��

 ���� ���

 ����# 
�� ������ ��� ���� ���"�
 	��� 0.1 �� 0.5 ����

 %�������% ��������
@ ���

���
���
 	�� ���� c
H−L ��% γ ��� ����% �� �� ���������� 
���� �� ������� ��� ��%����"

	������� %����%
 �� ���� ���� ��������
 ���� (�
� ������� ��% ����� �
 � ���������

�	 ������ �����
 ������ ���� � �# 8 ����������  �� �� ����; �	 ��� $�
� ���
��� �
 �


�	  ��� 
���� �	 ��%���% ������ ��
 �� �� 	���"��� 	�� ��� ��%����" ��
��	# 8�%�����

�� ��# >5..C� �# C7D? ��;� 0.05 �
 �� �������� � ����; �	 0.01 �� 0.1 �
 � ��

����

���"�# B������� γ �� ������� ������ ��*���
 ��� ������ %�
���������� ��% 0.5 "���
 ��

������� ��
�  ���� ����� �
 �&��� ������ �	 ���� ��% ����#


�� ��
�����" p∗ = 0.62 ����"
 ����� dp∗

dγ
= 0.02 > 0# 
��
 
����
 ����  ���

������
� �	 ��� 
���� �	 ��"� ������ ��������
 >��� ���� ���
  �� ��� �����K? ���

��%����" ����������� �� 
���%� 
���� ��
�
� 
���� ���"���� ������� 	��� ��%����" "��


���  �����
 ���"���� ��
�
 
��� ��� 
���# B�� ��
����� ��������� �����
 ��%����"

�
 ��
� ������
��" �� ��� ��
� ) ��� ���� ����� � >dp
∗

d

= 0.15 > 0? ��% %�����
��" ��

��� ������ �	 $�� >dp
∗

ds
= −0.18 < 0?�  ���� �
 �������� ��  ���  �
 �������%#

8�"����������� ���
 ������
 �����
� �q < −p∗�q′ �
 �� ��
 
���
$�% >��� ����	 �
 �� ���
�����%��?#

������������ 	���%  ��� ��"��� $�� �� �� �� ��%����" ��
�
� ��� ��������
  ��� �����

��

 �� 
���%� 
����� ����� ����� �
 �� ���% 	�� ��� ��� ��������� �� ������ �� � ��"���

��%����" �����������# �� 	���� ���
 
���
 	��� ��� 
����" �
������� �� ��� �������� �	

��� ��������� ��% ��%���%���
+ ��� ��������� �
 ���� J
����J �� ��� 
��
� ���� �� ���
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���%��� ��� ����� ��  ���� ��� �������" ������"�
 	�� "���� ��%����" �����������@ ���

��%���%���
 ���� �� ��� ����
���� ���� ������ 
���� ���� (�
� ������� � 
�����"�  ���

��"��� ����9#


� "�� � &����������� 	�����" ����� ��� ��*����� �	 ���������
� � ���� ��� ��%����"

����������� �
 � 	������� s 	�� ��� ��
����� ��������� �����
 t = 0.3, c/H = 0.06,

γ = 0.5#

B�"��� 5# F������ ��%����" ����������� %����%��" �� s, ��
����� ��������� �����
 >� = 0.2?.

���������	 
��� 
�����
�� ���� ������ 
�� 
������� �������% ��� �� ���)

����%  ��� ��� =���;�����")��;� �&��������� �	 ��� ���

���� ���
��� "����  ��� ���

��� ��������� ����
 $�
� >����  ��;�� �
�������?# 4������ ���� �� ���
 
���� q = 1

�	 p < 1
1+s

, q = 0 �	 p > 1
1+s

, ��% ��%��������% 	�� ��� �&������# =���� ��%����" �


��
���� ��� ���������  ��� ����
� ������ p = 0, q = 1� �� p = 1
1+s

, q = 0# 
�� ������ �


���	����%  ������� ��� ��%����" �
 ��� ��� ��
���� ������ c < γ

1−γ (1+ s)t(H −L), ���
�� ����� ����
� � < γ

1−γ (1 + s) >�����"��
 �� ��� �����

��� �� ��� %������ ���
���?#

,���������� 
�����
 �
 ������� �� ���
 
����+ !��� �������" ��
��� �
 ��%����%��� �	

��������� ����"�
 �
 ���" �
 ���� %� ��� ������� ������ ���% ���%����� �	 ����������

��� ��� �����
��� ��%����"# 8�%����" ����������� �
 %�����
��" �� ��� 
������"� �����

(�
� �
 �� ��� �������
 ��%��# 
�� 
������� �	 ��� 
����� ��%�� �
 %�
������ ��% ���

����������� �	 ��%�� (���
 �� !��� 	�� ��"� ����"� � �� �� s.


�� ���%������ �	 ��� %������ ��%�� ������
 �� �� ���� ����
����� 
���� ���)!���

�������" �
 ��� ��
����% �� �������# 8
 �� �
 ;�� � 	��� ��� ����������� ��� ��
���

�	 !��� �������" �� ���������� ��
� "�������!�
 	�� ���� ����������% ��%��
  ���

��������� �	 ��������
 ��% ���
���� �	 ������
������ ����
� ��������
# A�������� ���

���������� ��%��
 ��� �
����� �������!�% �� ��� ��
�
 �	 ���
 �������
��� ���%������#

5�




�� ��%�� ���
����% ���������
 ���
 	����� ��% ���� 
 �
 �� �����
�%�� ��� ��� �	

���������� �
 
�������" ������
����# 
��� �� (�
� ����
 %� � �� ��� ���

���� ��
�

�	 %������ �����
�
������ ��% ���  �����"��

 �� ������ �
 �&�������� �� ��� �������"

����!�� �	 ��� ����������
#


�� �������
�� �	 ��� ����9
 �	 ��� ��������� �� ������������ ��% ���

���� 
��)

���"
 �
 ����"���
 >R(q, p) �
 ��� ��� �������?+

R(0,
1

1 + s
) = γtH + (1− γ)tL− 1− γ

1 + s

R(�q(p), p) = γ
3p2 − 1

1− 3p+ 3p2 tH + p(
2− 3p

1− 3p+ 3p2γ(tH + st(H − L))+

+ (1− γ)tL)− cp(
1− 3p2

1− 3p+ 3p2γ + 1) + (1− p)(
1− 3p2

1− 3p+ 3p2γ + 1)tL

B�� ��� ��������� �����
 ���
�� (γ = 0.5, � = 1
3
)� �� �
 ������)�9  ��� ��������"

��������
 	�� ��� ��"����%� �	 $�� 
������ ���� �#� ��%  ��
� �9 	�� ��� ��"����%�

���"�� ���� �#�# 
��
 �
 &���� ���������� 
���� �� >��"�? �����
 �	 s ��
��� �� ���"�

>
����? ��%����" ����������� �	 
����� �� �������" �&���������@ ��%����"� �� ����� �


��
��� �� ���������# �� %������ 
�����" ��� ��%����" ����������� 	�� "���� ���������

�����
 ���
 ��� ����� ����% �	 2
3
, ��% ����� �
 ��%����%��� �	 ��� 
������"� �����

������ 	�� ��� �����
 �	 s ���
� �� 5# ,��
�&������� J
�����J ������� �
 ������
��"  ���

��� $���  �����
 ��� J%������J �
 
�����" ���
����#

B�� ��� ��"� �����
 �	 γ ��� ������� ������
 ��� 
���� ������ ���� �� 	�� ����

���"� �����
 �	 $�� ��� J%������J ������� ��
�
 
� ���� ���� �� �����%
 ��� J
�����J

���# B�������  ��� %�����
� �� � ��� 
�������  ��� p 
������� ��

 ���� 2
3
�
 �������%

	�� ���"�� ��% ���"�� 
�� �	 s �����
� ����������" s ∈ (1
2
, 1]. ,����
���%��"��� ���


���������� �	 J
�����J ������� �
 ���
����% ���� �� s = 1
2
�� ��� ����� >� ���
� �� 0?#

8� �����"� ��������  ��� ��"� ������ �� =���;�����" 
�����" ��� ���� ����� ��

��� �����  ��� ����������� ���@ �� ��� %������ ��
� ����� �
 � ��

������� �	 � ����%

�&���������+

I(0,
1

1 + s
) = (1− t)H

I(�q(p), p) = (1− �q (p)) (1− t)H + p�q (p) ((1− t)H − st(H − L)) + (1− p)�q (p) (H − tL)


��
 ����"
 ����� ��"��� J%������J ����9 	�� ��� ��%���%���� �	 p < 1
1+s

, ��%

�� �� ����9 ����� �
��# 
��
 
����� ��
��� �
 
����"��	�� ��%+ �� ��� ���

���� 
����

����������" I��q�p�, p�− I��, �

���
��  � "�� �����

��� ��� 
�"� �	  ���� %����%
 ���� �� ��� 
�"�
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��� �&��������� ����9 �	 ��������
 %��
 ��� %����% �� ��� ��%����" ����������� ��

��� ��"����%� �	 $��# /����� ��� �������% ����9 �� ��� %������ ��%�� �
 "�������

�	 ��� ��%�� ����������� �
 �� �� ���� �� ��� 
����� ��%��� ��% ��
� ���
�# G��� ����

���
 %��
 ��� %����% �� ��� �������" ����#

��	�����	
� '� ���; ���� ����� %������ ��%��  ������ ���������� ���
�%����"

��� %������
 ��
��	# �� �
 ��������� ���� ���� �� 
���%� 
���� ��� ������� �
 ����

%�9����� 	��� G�
� >=���;�����"? �&���������# 
�� &��
���� �	 �� ���" �� ��;�
 ��

������"� �� � 
���%� 
���� �
����% ��� ��������� 
� 	��# 8
 ����% �� �������%� ���


���% �	 ������"���� %����%
 �� ��� ������������� �	 ��� ��������� ����# �� ��� ���
���

��
�� ��� �������" �����%��� �
 �� � 
��
� 	�������� �� ��� �������
+ �� ��;�
 � ���"

���� �� �������� �� �������" �&���������� ��% ���������� 
���� ���� ) ��� �������" ���#

=������" 	��� ��� ��%%�� >q = 1
2
?� "�����" �
 ���
� �
 �#��5 �� ��� 
���%� 
���� ��;�


�.- �����%
 	�� ����
�� ��
� ��% ���� 5D �����%
 	�� �������" ��
�#


��
 ��
���  �
 �������% ������������ �� ��������" ��� 	������� qτ+1(qτ , p) ��
���)

���� ������ �	 ����
# B�� ��� ����
�� ��
� ���� p = 2
3
, q597 = 0.001; 	�� ��� ��
� �	

�������" p = 1√
3
, q14 = 0.999�  �����
 q1 = 0.5 �� ���� ��
�
#

����� !� ��������
�


�� ��������� %���%�
 �� ��� ������� ��%����" ���� �� ����� �����%� �

����" ���� ���

%�
��������� �	 ��� ��������
 ��
 ��� ����"�% 	��� ��� ��
� �����% qτ+1 = qτ >������

��
� ��
���
�?# 
��� ��� ����9 �	 ��� ��������� �


γ(1− q)tH + p(qγ(tH + st(H − L)) + (1− γ)tL)

−c(p(qγ + 1− γ)) + (1− p)(qγ + 1− γ)tL
>55?

B������ � ���
�%�� � ������ ��
� 	������� 	�� ��� 
�;� �	 ������������� 
� ���� c(p(qγ +

1− γ)) = cp(qγ + 1− γ)#


��� ��� ��
� ��
���
� 
�����"� �


BR (qτ) =



0, �	 c > �c := qτγt(1+s)(H−L)

1−γ+γqτ

1, �	 c < �c

8
 ��� ��� ��������� �
 ���� ����;��� �� (��� 	��� ��� ��%����" �����%� �� ��%����"

�������%� ��% ���;�  � ���������� ��"���� ��� ������ �	 ��� �"����  ��� �������

�	 �− p− ps#

5D



��������+

pτ+1 = αBR(qτ) + (1− α)pτ >5�?

 ���� α %��������
 
���% �	 �%(�
�����@ BR �
 ��� ��
� ��
���
� 	��������  ����

�
 %�$��% ����� �
 ������� ������!��" p "���� ��� �����	 ����� ��� %�
��������� �	

��������
# '��� α→ 1,  � ��� ���; �� ��� ��
� �	 (�����" 	��� � �� 5 �����������@

 ��� α → 0, ��� ����������� �	 ��%�� 
���
 ���� ���
� �� �� ������� ����� 	������# 
��

%������
 �
 ��
� 
��� �� ��� �������#

10.750.50.250

1

0.75

0.5

0.25

0

p

q

p

q

B�"��� �# 3��
� %��"���
B�"��� 7# ��
����� ���� %������
� �1= 0.125

��� �1 �� ��� ����� �	 �������" ���� ��%���
 
 ���� �	 ��
� ��
���
� 	��� !��� ��

��� �� ���;+

�1 :=
1− γ

γ

c

t(1 + s)(H − L)− c

�� �
 ������
���"  ������ ��� %������
  � ��� ���
�%����" ����"
 ����� ������"����

�	 ��� 
�
��� �� � 
���%� 
����  ���

qss = �1

pss =
�1 − 1 +

�
−1
3
(�21 − 2�1 − 3)

2�1

�� ��� ������" �����% ���
 ����� �
 ��

����# =��������� ��
���
 
�� ���� �� %�
)

����� ���� 
���� ��� �����
 ��� ��
����%�  �����
 �� ��� ���������
 ���� ��� 
�
���

������"�
# 
�� ������ 	��� �
 ��
� 
�� � ������������ �� ��� �����%��#

,���������� 
����� ��
��� 	�� ��� 
���%� 
���� �
 ��

���� �� ������ �����
� ��� ���

���������
 ��� ��%���% �� 
��"�� �1,  ���� �
 ����%�% �� ���� ��������#
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dpss

d�1
=

1

2�21

�

1−
�
1

�21
+

2

3�1
− 1
3

�−�

�

�
1

�1
+
1

3

��

,

 ���� �
 �� ��
 ��"�����# /����� ����������� �	 ��%�� �� 
���%� 
���� �
 %�����
��"

�� ��
�
 �	 ��%����" ��% ������
��" �� ��� 
���� �	 ��"� ������ ��������
� ��� ��� �����

��� ��"����%� �	 $��� ��% ��� ������ %�9��������# ,������% �� ��� G�
� �&����������

 ���� ����������� �� ��%�� ���� %����%
 �� ��� 
������"� ����� ��� ��
��� ���;
 ����

����
����#

=����� 	�� ��� ���������
 ��� s ��% γ ��� �9���
 ��� ��� ����
��� �	 ���
� �� ���

���������� ��%��# '�����
 �� �
 �� ���� &��
����  ��� ����!�� � ���������� ���

��������� ��
�  � ��� ������� ���%������
 �	 ��� � � ��%��
 �� ����� ���	����������

 ��� 
����!�% 	���
# B��
�� �� �
 ����
� ���	����� �������% ���� ���
��� �
 ������
��" ��

��� ��� ���� >=��� 	�� �������� ,���	����� >5.C7?� 3������ >5.C-?� 2���
 ��% ,���"���

>5...??� 
� ���� ��� ���������� ��%�� 
���
 �� ��;� � ������ (��# =����%� �����

�
 ��
� �  ��; ���%���� ���� ���
��� �
 ��
��"  ��� ��� ������ >'���� ��% '��%����

5.C�?� ��% �� ���
 
��
� ��� ���" ����!�� ��������� �
 ��
� 
�������# 
���� �
 ��

���������" ���%���� �� ��� ��*����� �	 ��%����" ��
�
 �� ��� ��%����" ������������

��% �� �
 ������ %�1���� �� 
��  ���� ��%�� �
 ���
�� �� ������� �� ���
 �����#


����
���	 ���� ����

�� ��� ��
� ����� �	 ��� ������������ "��� q �
 ��� 
��� �
 �� ��� G�
� �&���������

�	 ��� 
��� "���� 
���� �� �
 %�����% 	��� ��� 
��� ������!��" ������� %���
��� �	

��� ���������# 8�%����" ����������� p ��� �� "������ �� 
������ %����%��" �� ���

��������� �����
� �����
� �� �
 %��������% �� ��� �������� �	 ��� ��%���%���
�  ����

�
 ��%����% %�9�������# 
�� ��������� �� 
���%� 
���� p �
 ���� 
����+ 	��� 1√
3
�� 2

3
,

�������% �� (1
2
, 1) �� 
����� ��
� 	�� s < 1. /����� ��� %�9������ �� p 	�� ���
� � �

��%��
 �
 ��������� %����%��� �� s+ 	�� ���"� �����
 �	 $�� G�
� �&��������� "���


��

 �����
��� ��%����"� ��% 	�� 
���� $��
 ��� ��%�� ��
���
 �� �� �� ��%����"#

8
 	�� ��� ����9
� 
���� q �
 
�� 
� ���� ��� ��� ��������� �
 ��%�9����� ��� ���

��%����" ��% ��� ��%����"� ��
 ������� �
 ������� ��� 
��� �� 
����� ��% %������


����
# '��� $��% q ��� ����9 �	 ��� �����"� ��"� ������ �������� �
 ������"���
��

%�����
��"  ��� p, 
� ���� 	�� ��"� ��������
 ��� �����"� ������ �
 ���"�� �� 
�����

��%��#

���� �	 ��� ��	����� �����
�

�� �
  ���� �����" ���� ��� 
����) �
� ��% �����) �
� ����
 �	 ��� ������� �


���
�
����  ��� 
����!�% 	���
 ���
����% �� ��� �����%������+ ���� ��%�� ��������)
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��� ��% ��� ���������� �	 ����
� ��������
 %�����
� >
����% ���� �	 HH�� �������?�

��% ���� ���������� ��%�� ����������� 
����
 ������
��"�  ���� ���)���������� �
 
����

������
��" >������ ����
?# 8����%��" �� ���
 ������������ ��� ��
����% �������� �


���)�	)�&��������� �%(�
������ ��% 
����� �� ����� ��� ��� ���
���  ��� ���� �� "�

%� �#


�� 
����) �
� �	 "�������% %������
 ��
� ���%���
 �����
 �	 ���)����������


�"��$������ �� �� ���� ��� G�
� �&���������# 
��
 ��� �� ��;�� �
 �� �����������

����������� �� ��� ��!!�� �	 ��� ��"� ����������� �
����� ��
����% �� �����%������ �	

������
������ ����
� ��������
 >8�%����� �� ��# 5..C� =�����% ����?#


� 
��  ������ ���
 ;��% �	 %������
 �
 ��� �%��
�������� 	�� ��� �������" ����

��%�� ���
�%�������� ��� �
 ������% �� ��� ����� 
����$������
 �	 �����������
 ��� ���

��� ��������
#

��� �����
� ��� ������� "������� �

�����
� ���
�����

8� �"��� ����
 � � �����
� ��% ��� 	���� ��" >���� 	�������� �� ��� *����
���"

�	 ����
��? �����%���� ��  ����  � "� ���� 	������ � �� 	��� ��� �������% �������

������!��" �"���
� ��;�
 �����# �	 7 ����
� ������ ����� ����  ��� ��� 
��� ����
� 	��

��� ���� ����%# �	 � ����
� ��% 5 ���"�� ������� >�� 5 ����
� ��% � ���"�� �������
?

����� ����  ��� ��� ���� ����
� ���� ����# �	 � ����
� ��% 5 ��� ���"�� ������� >��

5 ����
� ��% � ��� ���"�� �������
? ����� ���� ��� ��� �������" ���� ����# �	 7 ���

���"�� ������ ����� ���� ���� ����� ���� ����# �	 � ���"�� �������
 ��% 5 ��� ���"��

������� >�� � ��� ���"�� �������
 ��% 5 ���"�� �������?� ���� ��� ���� ����
� �� ���

���� ����%# �	 ��� ����� ����
 ���� >�� 7 ���"�� ������?� ���� ���� ����
� ���� ����%#


�� $�
� 	��� ����
 ��� 
���%��%@ ��� ��
� � � ��
��� 	��� ��� �

������� ���� ��

��
���� ����
��% ������ >�� �� �� ����
��%? �
 ����"� �� %���� ��� 	��� �������" 	��

��� ���� ����� ��% ���� ��� �������
 ��� � ��� �	 ��� ������ �� �� ����
�#

E�� ��� ����%
 q (1− p) (2 (1− q)+q(1−p)) �	 ����
� ��������
 
 ���� �� �����)
��"� (1− q + (1− p) q)2 �	 ��� ���"�� ��������
 �������� �������"� ���"�� ��������


%� ��� ����� �� ��� ���� ����%# 
�� %��������� �	 ��� ��
������� ������������
 �
 ��	�

�� ��� �����%��# 8
 � ��
���� ��� �� �	 ������ 	�� q �
 "���� ��

qτ+1 = qτ (1− pτ)
�
3 (1− qτ )

2 + 3 (1− qτ) (1− pτ) qτ + (1− pτ)
2 q2τ
�

>57?


��
 �
 �""��"��� ���������� %������
� ������ ���� �� %��
 ��� %�9�� &������������

	��� ��� �������
 �������" ����# '� 
�� ���
 �� ��� 	���� ��" �����
������ $�
�

5-



%�$���" � ����
���% 
���� �	 �������" �


�q :=
3(1− p2)−

�
1 + 12p− 18p2 + 8p3 − 3p4
2(1− p3)

 ���������
 �" ,��
�%�� ��� �� �	 ������ �	 q 	�� ��� �9������ ����
����� ����)

����� "���� �� >57?# �	 p ∈ [0, 2
3
) �� ���
 �����%� ���� ��� 
���� �	 �������"

��������
 ������
�
 �� ��� ���� �����% 	�� q < �q ��% %�����
�
 	�� q > �q. �	

p ≥ 2
3
, �������" �� ��� ���� �����% %�����
�
#

B������  � %� ��� ��;� 
������ 
��
������
 	�� ��� ��
�
 �	 ���������� ��%

��
���� �	 ��� �
  ��� �
 	�� �������
��  ��� G�
� �&���������# 
�� ��"�� �	 ���

����
����� �
 ��� 
��� �
 	�� ��� �����"� ����9 �������" ���������� ��% ��� ��
���
 ���


������#

'� 
����  ��� ��� ��������
� ��
�+ ��� %������ ������"�
 �� p∗ ∈
�
0, 2

3

�

�������%  ��� ��� 
��� �
 ��	��� =���;�����" �������# 
�� ����������� 
�����
 �


���� ���� ��� 
��� >������ ���� ��� ��
���
 >�?)>C? ���% 	�� ��� ��� ����
 ���
�%���%?

�
 	�� ��� �������
 �������" ����� 
���� ��� �������� ��� ��� p ��% q �
 
���� ��"�����#


�� �9������ ����
����� ���� �
 �����������" ���� �� ��� ����
� ��������"� ��% ��

�
 �	 �� 
�����
� ���� ��� ������� ����������� �	 ��%����" �
 �� �� ���� 	�� ��� 
���

��������� �����
+

B�"��� D# F������ ��%����" ����������� %����%��" �� s, ��
����� ��������� �����
.

/� ����� ��� 	���� ��" �����
����� �
�����
��
 �� ��������� ��
��� �	 
��������� �	

��� � � �������" ����
# G������ ��� 
���%� 
���� �����
 �	 ��� ��������
 ��� �9����%

�� ��� 
��� ������ �� 
���� ��������� ����"�
#

 ���������
 �" �9������ ����
����� ��������� ��
���
 �� ��� 
��� ����������� 
��)

���
 �
 ��� �����"� ����9 ���������� �#�#

dp∗

dγ
> 0,

dp∗

d�
> 0,

dp∗

ds
< 0.
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B��� ���
  � ��� ������%� ���� ��� ���)%���������� %������
 "�������% �� � �

����
 %� ��� &������������ %�9��# ,������
��  ��� ��� 
����� �&��������� �
 �������

��� 
��� �
 ��	���# 
�� ����9
 �	 ��� ��� ��������� 	�� ��� �9������ ����
�����

��� ������
��" �� ��� ��"����%� �	 $�� 
�� �� ���� 	�� ��� ��
� �����"�# 8
 � ��
����

��� �������� �	 s 	��  ���� ��� ��� ������� �	 
����� "��� �����%
 ���� �	 %������

�
 ���"�� 	�� ��� �9������ ����
����� ����� ���%��" ��� ��� ���������
 ���
����# 
��

��
��� 	�� ��� ����9
 �	 ��%���%���
 %��
 ��� ����"�� �
 �� %��
 ��� %����% �� ���

�������" ���������#

,�����"���� 	������
 ��� ��� ������% ������+ �� ����� �� �������" 
���� 	��� ���

��%%�� ��;�
 �.D �����%
 �� >�������%  ��� �.- ��	���?@ �� "�� �� ��� �������" ��;�


7 �����%
 >5D ��	���?# 
�� ������� �� ����� ��� ��� �� �������% %�������� �
 	�� ���

��
� �����"� ��� �������"  �
 ���������� �� p ∈
�
0, 1√

3

�
��% �������% 	�� p = 1√

3
@ 	��

��� ���
��� ���� �� ��� ���� ������ 	�� p = 0.

�� ��� 
� ��������
� ��
� ��� 
�
��� ������"�
 >�� ���������
 ����? �� ���


���%� 
����  ��� �� �� ����������� �	 ��%����" ����  ��� ��� �������
 ����# 
��

%�
����� ���� ������" ��
 ���� 
���� �������%�� 
� ���� 
���%� 
���� �
 �������� � ����

"��% ������������� �� ���
 ��
�# 
�� 
���%� 
���� ����� 	�� q ��������� ������
 ���


���� �
 �� %��
 ��� %����% �� ��� �������" ��������� ��% �������� ������%�  ��� ���

G�
� �&��������� �����# 
�� 
���%� 
���� ����� �	 p ����
 	��� >57? �
 � 
������� �	

��� ����%)��%�� ���������� −�21p3 + 3�1p2 − 3p + �21 − 3�1 + 2 = 0. B��� ��� ���
�

�������� �� �
 ����� ���� ���
 ����� �
 �� �� ���� 	�� ��� ��
� �����"� ���������#

 

1 0.75 0.5 0.25 0 

1 

0.75 

0.5 

0.25 

0 

 

B�"��� �# 3��
� %��"��� B�"��� �# ��
����� ���� %������


B�� ��� ��
����� ��������� �����
 (�1 = 0.07) ��� 
���%� 
���� ����� �	 p �
 �&���

�� 0.625 >�������%  ��� 0.659 	�� ��� �������
 ����?# 
�� �����
 �	 dq

dx
,  ���� x �


5.



��� ��������� �	 ��� ��%�� >s, γ, t,H, L? ��� ���������� ������"�%� ��% ��� 
�"� �	
dpss

dx
= dpss

dqss
dqss

dx
�
 ������"�%� 
���� dpss

dq
�
 ���)��
����� 	�� ���� ����
� �
  � ���$��

�� ��� 	���� ��" �����
�����#

 ���������
 �" B�� ��� �9������ ����
����� ���������� ��� 
���� �	 �������
 ��

�������� 
���%� 
���� �q �
 � %�����
��" 	������� �	 ��%����" ����������� p� �#"#

�q′ (p) ≤ 0#

8
 	�� �
 ��� �������
��  ��� ��� G�
� �&��������� �	 ��� 
����� "��� �
 ��������%�

���������" 
��% 	�� ��� ��
� �����"� ���� ������
 ����%# 8���" �����
� ��� I%������I

��%����" ����������� �
 �������� 
������ ���� ��� I
�����I ��� > p ∈
�
0, 2

3

�
�� %������

��
� ��% p ∈
�
1
2
, 1
�
�� ��� 
����� ��
�?# B������� ��� %������ 	������ �	 ������" �
 ��
�

���� 
������ ��% �
 ���
�
����  ��� ��� ���%����#

�� ������ ��� ��� ���� ������
���
 �	 ��
� �����"� ��������� ��� ���
����% ��%��

��� �9������ ����
����� ���������# 
���� �
 ���� ����
� ������%� �� ��%
 ��� ��
; �	

����" ����
��% ����%��% �� ���
 ����# 
��
 ��
���
 �� �� �� �������" �� ����������

��
�� ��% �� �� ��%����" ����������� 	�� ���� ��
�
#

��� �����
� � �������  ��
������ ���
�����

'���m �����
 ��� ��
����% >��% m �
 
��
��������� ���"�� ���� �?�  � ��� 
����	� ��

��������� ���� ���� ��&����
 ������� ��	�������� ����� ��� ��%���%���� ��% ������

����  ������ ��6
��  �
 ���"�� �������"# 8

��� ���� ��� ������������ �	 ���
 ��	��)

������ �
 �

���% �� ��� ��� ��������� 	�� ��� �����
� �	 %�������" ��� �����
# 
��



���
 ����
���� �� ��� 
��	)���������� 
������ �
�������� 	�� ��� ���	�

�����
 ��;�

%�����
� ��%����
� ���# ��� k∗ �� ��� ������� ������ �	 ��
����% ���"�� ��%���%���


���� %��
 ��� ��%��� 
 ������" �� ����
��# 
�� ���� �
 ���� ��� 	���� ��"# B�� � ���

���"�� ��������+ �	 ���� ���� k∗ ���"�� ��%���%���
 ��� ��
����%� ���� ����
� �� ���

���� ����%� �	 ��

 �� �&��� ) ���� �����@ 	�� � ���"�� ��������+ ���� ����
�#


�� ����������� �� ��
���� ��

 �� k∗ ���"�� ��%���%���
 �
 %�$��% ��

Pr(k ≤ k∗) =
k∗�

i=0

�
m

i

�
(pq)i (1− pq)m−i


��� ��� �������" �
 �������" �����%��" ��

qτ+1 = (1− qτpτ) Pr(k ≤ k∗)

��




�� �������  ��� ���
 %������ �
 ���� ���� ��� 
�
���
 ����
 ���
� �� �������

�����
 �	 q >� �� 5?� �� �
 (�����" ��� ��� J����
� ��� �������"J ��% J����
� ���

����
�J 
����
 �� ����� �����%# 
��
 ������� ������
�� 
����
 	��� �� :���%����:

������ �	 ��� 
����$�% ���������+ ���� ����� ��� ���� ���� �������
� ����
� �������%�

����
 � ���"�� �������� ��% ���� ��� ���
� 
 ���� �� ������" ����
�# E�� ���� ����
�

�������%� �
 ������" ����
�� ����
� ����%� ����
 � ���"�� �������� ��% ���� ����
�

�������%� �
 ������" �����#


� ��;� ��� %������
 ���� 
������ ��� �
��� �����% �
 �� �����%��� 
��� ;��% �	

������� ���� ��� 
�
���� (�
� ��;� ��  �
 �����%� %��� 	��� ��� 
�%� �	 ��� ��� ���������#

=�� ��� �
 
�� ����  ��� ����������� β ����� ������
��% ��%���%��� ����"�
 ��
6���


�����"� �����%��" �� �����%� 
����$�% ����� ��%� �����
���%��"���  ��� �����������

1− β ����
 ��� 
��� 
�����"� �
 �� ��� �������
 �����%# 8
 ��	���� ����
��% ������


 ���� �� �� �������"  ��� ����������� 5#


��� �� ����� �����% (1−β)(1−p)q+βq(1−p)P (k ≤ k∗) �������
 ������ �������


���
 β(1− q)P (k ≤ k∗) ����
� ������ 
 ���� �� �������"# 
�� %������
 �
 %�
�����%

��

qτ+1 = qτ(1− pτ)(1− β) + β(1− qτpτ)P (k ≤ k∗) >5D?

B�� 
���� ����"� �����
 �	 β �� ������"�
 �� � 
���%� 
���� >����� �� %�
����� ����?

������ ���� (���
 ��� ��� � � ������� �����
# 
��  ��;��

 �	 ���
 	����������

�
 ���� 
���%� 
���� ����� �	 p %����%
 �� ��� ������� ���������� ��% ���
 "���
 ��

�%%������� :%�"��� �	 �����������

: �� ��� ��%��# B�� ��
����� ��������� �����
 p �


������
��" �� β,  ���� �
 ��%��
���%����+ ��� ��������� ��
 �� ������� ����� �	 ���"��

���� �	 ��%���%���
 �
 �����
�%����" ����� %���
��� �� ����� �����%# B�������� �� 
���%�


���� (p+ β − pβ)q = β(1− qp)P (k ≤ k∗). 
��� dp

dβ
= P (1−qp)+pq−q

q−qβ−β( ∂P∂p (1−qp)−Pq)
,  ���� ��


�� ��������� 
�"�#

�� �
 ���� ���% �� �����!� ��� m)%������ ������������� 
���� 	�� �������� k∗ ��

�������
 ��������"  ��� 
��
 �	 �������� ���"��# 
��� �
  �� � 	�� ��� ������

��
����� �� ��������� �� ��� ��
�  ���� ��
�����" ��� ���"�� ��%���%��� �
 ����"� ��

%���� 	��� ���
��� (k∗ = 0)� (�
� ��;� ��  �
 
����$�% �� ��� �9������ ����
����� ����#


�� %������
 �
 ����

qτ+1 = qτ(1− pτ)(1− β) + β(1− qτpτ)
m+1 >5�?

B�� ������
 ���
��
 ��� ���
�% 	��� 
������� �
 ����

���� �� ������ ���� 	�� ���
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�����$�% �������# =�� � 
������� 
���%� 
���� 	�� β = 0.1 ��% m = 19. F�����
���

��� ����� ���� �
 
���� q = �1. �� 
� ��������
� ��
�  � �"��� ��
���� 
���� �����


�����% ��� 
���%� 
����  ��� ��� �����������
 
������ �� ��� �������
 ����
#

B�"��� -# =���%� 
���� ���� 	�� m)����� qτ+1= qτ B�"��� C# ��
����� ���� %������


,������% �� ��� �������
 ��������� ����
� ��� ���� qτ+1 = qτ �
 
��	��% �� �� 

�������" ) �� ��%����" ������� ������" ���� 
���%� 
���� �
 ���� ��;��� �� ���� �� 

����������� �	 ��%����"# 
��
 ����
 	��� � 	�����
+ ������� �� %���
��� ��;��" β ��%

������ �	 ������ �� ���� m# G������ �� ����� ���� ���� 	�� p → 1 �������" �


��� ���������% ����������# ��%��%� 	�� pτ = 1 qτ+1 = β(1 − qτ)
m+1, 
� ���� q = 0

���� 	�� β = 0,  ���� �
 ����

����# /����� 	�� ���"� ��%����" ������������
 m)����

��
���
 �� ���"�� �������" ���� 2)����
# 
��
 
�����"�� 
����"� ��
��� 
���
 	��� ����

��	�������� 
�� �	 ��� ��%���%���
+ �	 ����%� �
 �������"� ����%� �
 ���"��� 
� �� ���

���� �����% β �	 ��%���%���
  ��� �����#

�� ��� ��������
� ��
�� ����� �������" ��� �� %�����
��" �� ������
��" %����%)

��" ��  ������ qτ > q̂ (p∗) �� ��� ����
���# 
��
 �
 ���� 	�� ��� ����� �	 p ���
�� ��

��� ��� ���������# ,���������� 
�����
 �
 �"��� 
������ �� ��� �������
 ����
� 
����

��� �������� ��� ��� p ��% q �
 ��"�����# =���� ����
� ��������" �
 	�����% ���� ����

�� ���
 m)�����  � ������ ������� ��%����" �� �� �� �� 	�� ��� 
��� ���������
# 
��

��"����%� �	 $�� �
 ����
� ���������� ��%�� ��� ���
��� ��������� ����� 
���� �����

�
 �� ��	�������� ����� ����9
� ��% ������ ��� %������% 	��� ���
��� �� ��
�����"

���"�� �������
 ��"��%��

 �	 $������� ��
�
 �	 ����" ���"��#


��
 ��������� �
 
�������% �� 
��������� ��
���
+ 	�� ��� ��������� �����
 ���

����"� �	 
������"� ���� �
 ��� ����"��" ������� p� ��% ��� �&��������� ��%����"

�
 �� �� ���� ��	���+ �#D7 �������%  ��� �#�� ��% �#�D 	�� ��� $�
� � � ����
 >���

��



%�9������ ��� ��� ����
 �
 ������
��"  ��� ��� ��
� �	 ��%����"?# G��� ���� ���
 
���


��
��� 	��� ��"��� ������ �	 ������  �� ��������� ������ ���� 	��� ��� %�9�����

��	�������� 
�������� �	 ��� ����# ��%��%� 	�� m = 2 ������� ����������� �
 �#�5�

��� 
��
��������� �� �� ���� 	�� ��� ����� � � ����
# 
�� ��%����" ����������� �


��
��"  ��� ��� ���������� �	 ��"� ������ ��������
� (�
� ��;� �� � � �������
 ��
�
#

/� ����� �� �
 %�����
��" �� ��� ��
� �	 ��%����"� ��% ����� �� �.

B�"��� .# F������ ����������� %����%��" �� γ#B�"��� 5�# F������ ����������� %����%��" �� c#

=��  ��� ��� ������� ��	�������� �������" ���� ��� %�9������ �� �����������


�����
 ��� ��� ���������� ��% �� ���������� ��
�
 %�
������
# =��� �
����%��"

%�9������ �� �������
��  ��� $�
� � � �������" ����
 �
 	���� ���������% �� ��� 	���

�	 
���%� 
���� �������� ��� ��� q ��% p. 4����� ���� dp
∗

ds
, dp

∗

dγ
, dp

∗

d

���� ����

 ��� ����


���� �� q̂′ = q̂′ (p) ��% q̂′′ = q̂′′ (p) . 
��
� ��� �����
�% ��
��� 	�� ��� ���
��� ���� �


%�� ��

q̂ + p̂q′ > 1− 1

γ
>5�?


� 	������ ����������!� ��� 
���%� 
����  ��� ���������� ����������  � ��;� m = 1


���� ;�����" k∗ = 0 �� ������ �� ��� 	���� ��" �����
�����#

 ���������
 �� '��� ���������� %������
 �	 ���� ��	�������� >����������? ����

"���� �� >5�? ��% m = 1� ��� �������� ��� ��� 
���� �	 �������
 ��% ��%����"

����������� q̂ (p∗) �� 
���%� 
���� �
 � ���)������
��" ��% ������ 	�������# 8�

��� 
��� ����� q̂ + pq̂′ ≥ 0 ���%
#


�;��" ���� ������� ���
 �����
����� ��% >5�?  � ���� 1− 1
γ
< 0 ≤ q̂ + p∗q̂′� ��%

����� ��� ��
��� �	 dp
∗

d

< 0 ���%
 	�� ��� ��������� �����
 �� ��� �������#

�7



�� ������ ��� ���� ��	�������� ���� 
�� 
 ���� ��� ���
��� ��
���
 	�� ����������

��
� �
 %�� �� ��"� ��	����������

 �	 ��� ��������
 ����� ���� �����
# '��� �����

�
 �� ��	�������� ����� ����9
 ��������% �� �������������� ��� ��%���%���
 ��
����

	��� ���
��� �� ���� ���� J����������J "����%
 ���� ��	���# 
���� 	�� ��� ��� ��"�

��%����"� ���� ����
�� ��
���
# ������
��" ��� ������ �	 ������ ��� �� ���
 ����

��
� ����"
 ����� ��

 �������"� �����
� 
����" ���� ������ ����
 ��"��� ������ �	

��
�����" � ���"�� ���#


�� ���� ������
���
 	��� �������
 ��������� ���� ��� 
���� ����% 	�� m ������

������"# G������ ����� �
 
���� ���)!��� �������"  ��� ���������� ��% ��� %������


�� ���  �
���� ����  ���� �
 ���
�
����  ��� ��
��������
#

# ��
��
���



�� ��%�� ���
����% �� ��� ����� �
 %�
�"��% �� ������� � ������ 	������
 �	 ��������

 ����  ��� ���"��� ��"�����% �� ��� ���������� �� ��� ���
���� ��% �
�������� �� ���

"���)��������� �������� �� ��� �������# 
��
� 	������
 ��� 
����� ������������ ����

;�� ��%"� �	 ��%����" ������������ �
������� �� ��� �������� �	 � � ������
 ��%��

���
�%�������� ��% ������������� ������ �	 ��� ��� ���
��� %���
���# 
�� �����������

�� ��� ��%�� �
 �������" ���� �����
: 
�����"��
 ��% ����9
# 
��
 ���� 
 ��%���%���
 ��

��;� %���
���
  ������ ��&�����" ��	�������� ����� ��%����" �����������# A��������

 ��� 
����� ��������� ����
 
����$�% �� ��� "���� ������ ��
� ����% ��
�
 �	 �����

��"

��	��������� �
 ���� �9�������� ;��  ��� %���
��� �� ��;�  ������ 
�����" ������)

����% ������!����� �������
#


�� ��%�� ���������!�
 %�����
� �	 ��%����" ����������� ��% ���������� ��
����%

�� ��� �= ���� ��
� %���%�
 �
 ���)�	)�&��������� %������
# 
�� 
��� �
 ���� 	�� ���

������ ���������" ������
� �	 ���
��� ����"  ��� ��"������" ��%����"# 
�� ��%�� ���

��
� ������� I��� ������I �������" �� ��������
+ �����" ��������� �����
������% ��%����"

������������ ���� I��%�������I 	�� � ���" ���� %�� �� ��� ������� ��% �����	������


�	 ��� �������" ����
# 8�� ���
� ��
���
 ���%  ��� ����� %�9����� 
����$������
 �	 ���

�������" ���� >��� ����
 %�9�� �� �� ���� ������ ��� �	���% �	 ����" ���"�� ��% �� 

���� ��	�������� ���� ��� ����� 	��� ���� �����?#

'���  � ���� ��� ��� �"���� �� ������ �� � ������� ����������� �	 ��%����"�

��
����� �������" ��� ���
� �� �&���������# 
��
 �
 
���
 ���� ����
���� ���� ���

��
��� �������% �� ��� ��
� �	 
����� ���������� ��%��
# =��� ��%��
 �
����� ����

�D



!��� �������" �	 ��%���% ��������
 �� �&���������# A�������� ��� ����������� 
�����


 ��� ��
���� �� ��� ���� %��
 ��� ������%��� ��������� ���%���� >�������" �
 ������
��"

 ��� ���?� �
 ����
�% �� ��� ��%��
 �� ��� ����������# /� ����� ��� ��%�� ��
 ��


������
 ����������
# B�� ��
������ ������" ��� �� 
��% ����� ��� ������ �	 ������� ��

��%����" %���
���� ����"� ���
 ����% �������� �� ����������� ��
�����# '������ "��%

	�����" ����� ��� ������� ��������� ��% ��� �������" ����  � ��� ��� 
�� ���� �����

��� �����
� 	��� ��� %������
 ��;�
#

�� "������� ��� %������ �������� �� ��� ���������� "���
 ������
 �  ���� �����

�	 ������ �

��
# 8�� ��� ��������%�����
 �	 �&��������� ������ ����%� �	 ��� 
�
���


����� ����
 �� �&���������L 8�� 
��� ����"�
 �� ��� ���
���" ��������  ���� ��)

%����;��"� �	  � ��;� ���� ���
�%������� ��� ���� %�9������ �� ����$�
 ��� ��� �������

��% $��� 
����
� ��� ��
� ��� ��
�
 �	 ����
�����L ,�� ��� %���
��� ����
 �	 ��� ��� ��)

��������
 ��% ��� �������" �������
�
 "�������" ��������
 �������� �� ����������%

�� ���  �� �� ������� ������� 
�����  ��	���L
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 � ����%��" ����; 	�� ���� "������ ��%��
� ��� ������������ �������� ��� ��

�������% �� ��� 
��%��
 �� �� ��� "��������� ��� ��
��� ��"��� %�"��� �	 ���
� ��


������ >��% ��

 ���
��� �
 � ��
���?� �� �� ��� �����%� ������� >	��� ��� ����� �	

��� �	 
�����  ��	���? ����� �	 ������ "��%
� �� �� ��� ����" ����� 	�
��� "�� �� �	

�� �������# B�� ���
 ��  ���% �� ����

��� �� ���
�%�� ���� ����������% "���������

>��% ����� ��� ����������
? 
�����"��
� ��������" ���� ���� ��� �����% ������� ��%

��

���� ������"����
 ��������
#

B������� ��� �������� ��;�� �� �� ����
 �����
 �
 �� ���
�%������� �	 ������ ���

���
���# ���� ���� ������
���" ��% �������" ��
;  ���% �� �� ���; �� ��� ����� ����
�

�
�������� ���
� �����% �� ��������
�
# �� ���
 ��
� �������" �
 �������� ���� �����
����

�
  ��� �
 �����������  ��� ��� ����������
# A�������� ��� ��
����� 
�!� �	 ���
��� �


���� ��;��� �� �� ��"��� ���� �� ��
�  ��� ��%���%���
# 
�� ��%����" �	 ��������
�

�������"  ���% �������� ���� �
 �� ��%��
���% ������ �� ��� 
��%� 
����� ��

"������ �
 	���������"#

$�%���
���

M5N 0���
 8�%������ E���� ����% ��% 0������� B���
����# 
�� ,���������# 0������

�	 �������� ����������� 0��� 5..C� ��# C5C)C��#

��



M�N 3���� E��%
���# 
�� ���������� "���
  ��� �����	��� ��%����"# 
�� ������
���

�	 A�������� ���������� �	 ��������
 ��
����� ����� ��#�DC# 0������ 5..-#

M7N ,�����
 ,���	�����# 
�� ���
��� ��% 
�� 4���
+ �� 8����
�
 �	 ��%���%��� 4�)

����
# 4���� �	 ��������
 ��% =����
���
� ��>7?� ��# 7�7)-7� 5.C7#

MDN B���; ,� ���# 
�� ��������
 �	 
�� ���
���� A�
 3��

� 5..�#

M�N 4�

 ,��

���� '������ A����
�� ��% 0���)B���O��
 '��# F� ��� ������������

�������
 �	 ,����# ,���%��� 0������ �	 ��������
� ���# 75� ��# �� G�������

5..C#

M�N 0�9��� ������ A������ 2����! ��% ����
 '��%�# 
�� �9��� �	 8�%�� 4���
 ��

��� B�%���� ��%���%��� ������ 
��� 5.--)5.C�# G������� 
�� 0������� D7>D?� ��#

7.�)D�.� 5..�#

M-N �%���%� ��"��� 0���
 /���
# ��%��
���%��" 
�� ���
��� �������
# GE�4

'��;��" 3���� G�# �.�7� 0������ 5...#

MCN E���� ����% ��% 0������� B���
����# /���
�� ��% ���
��� �� ��� 
�� ,���������

2���# 4��% 0������ �	 ��������
� ��>5?� ��# 5)5.� 5..D#

M.N ��� B�%�����" ��% ����% ������# 
�� ������ �	 �������" �� "���
# A�
 3��

�

5..C#

M5�N ����% 2���
 ��% 3�����; ,���"���# 
�� �������" ���� �	 ��� ��%%�� �������+ ���

��� ���%�� ��% ��� ��� ���
��� �� G� P�����%# �����������
 '��;��" 3����

..�D� ���������� �	 ��������
� ������
��� �	 ��������� ,���%�#

M55N A������ 2����!� 0����	�� 4���"���� ��% ����
 '��%�# 
�� 
�� ,���������

2���+ 
� ��%
 �� ����������� 
����� �	 �� ��	��������# 0������ �	 �� �

��������
 ��% F�"���!������ �>5?� ��# 5)7�� 5.C�#

M5�N A����
 /��
�� ��% =������ =����# ��9�������� �&������
� %�������� 
�
���
�

��% ������ ��"����# G� Q��; + 8��%���� 3��

� 5.-D#

M57N 0�
�	 /�	����� ��% <��� =����"# =����
������% ��������� �� ,����� 2���
# 0���)

��� �	 ������������ ��������
� 5�� ��#��7)�D7� ����#

M5DN 0# 3������# 
�� ���
��� ��% ,������ 2���
 
�������# 8������� �������� 4�)

��� � 3����
 ��% 3�����%��"
� --� ��# �7D)7.� 5.C-#

��



M5�N 0���	�� 4���"���� ��% ����
 '��%�# �&��������� ����$������ ��% 4�������"

3������
 �� � A�%�� �	 
�� ,���������# ������������� �������� 4���� � �->7?�

��# -7.)��� 5.C�#

M5�N �
���� =R����! ��% 0��� =����# /����������� ��
�"� ��% ��	�������� �	 ������


�� 3������
# 0������ �	 3����� ��������
� ��>7?� ��# 7D�)�.� 5..7#

M5-N <��� =����"# '�� �������� ��% �	 =�� /� L 8 E���%�%�� 4������� 8������� ��

A����)����% E��%��
# 0������ �	 �������� 
����� -C� ��#57�)��� 5..C#

M5CN =����" <#/#@ 3�����; 2#E# =����� 4���
 �
 �� �9������ �������" A������
�#

4���������� ��% =������� ���# 55� �

# D� ��# 7-5)7.-� G������� 5...#

M5.N 0��� =�����%# 
�� ��������
 �	 ,�������� 
�� =��$
���

# GE�4 '��;��" 3�)

��� S5�C�C� F������ ���D#

M��N 0��� =�����% ��% =# Q��!��;�# 
�� 8���%����� ���
��� ��% 8%����
�������#

/��%���; �	 3����� ��������
� ������ 7� 5D�7)5D-�� G���� /�����%� ����#

M�5N B���%���� =�����%�� ��% ������; ��
��# =��%� ��������
+ =�!�� ,��
�
� ��%

,����&�����
# 0������ �	 �������� ����������� ��#--)55D# A���� ����#

M��N 8�����%�� ��
�� ��% 3����� ��
���# 
�� F�����!����� ��%�� 
�� ���
���+ 
��

4��� �	 3������ ,��
������
# ��4, '��;��" 3���� �56�.�� ����#

M�7N '��� '���# 
�� ���
���� ����������� ��% ��� ������������ �	 ������"�����


��
������
# '���% E��; '��;��" 3���� �7.D� ����#

M�DN 8# '���� ��% �# '��%����# 
�� �9��� �	 
�� �� 
 ��% 
�� 8%����
������� ��


�� ,���������# G������� 
�� 0������� 7C� ��#5)57� 5.C�#

& ����
��'

 ���% �% ����������
 �� =�����" 7 	�� ��� 
���%� 
�����  � "�� q = 2−3p
1−3p+3p� #

<�� ��" ���� 0 ≤ q ≤ 1�  � ������ 1√
3
≤ p ≤ 2

3
	�� ���
 
���%� 
���� ��)

������ �� ���%# B�� p < 1√
3
��% p > 2

3
��� 
���%� 
���� 
�������
 ��� ������

���
�  ��� q = 1 ��% q = 0 ��
���������# B�� ��� �������� 
�������� 
�����" 7 �


���&������ "���
 ��� 
��������
 �	 �����
�����#

�-



 ���% �% ����������
 �� �� ��%�� �� "�� �������� 
��������  � ���� �� "�� ���� ���

������� �� p = p∗ ���� �� p = 0# 
��� �
� ��� 	���� ��" ���&������ 
����% ���%+

γ(1− q)tH + p(qγ(tH + st(H − L)) + (1− γ)tL)

−c(p(qγ + 1− γ)) + (1− p)(qγ + 1− γ)tL > tL
>5-?

γt(H − L)[1− q + pq(1 + s)] > cp(1− γ + qγ) >5C?

1− q + pq(1 + s)

p( 1
γ
− 1 + qγ)

> � >5.?

−1/p+ (2− 3p)s+ 2
1− 3p2 + 1

γ
(1− 3p+ 3p) > �, >��?

 ���� �
 (�
� ��� 
�������� �	 ��� �����
�����#

 ���% �% ����������
 �� �������� %�9����������" q(p) "���
 ��� �����

��� 3(3p�−4p+1)
(1−3p+3p�)�

 ���

��
����� %����������# 
�� ��������� �
 ��"����� 	�� p ∈ (1
3
, 1)# =���� ��� p �


%�$��% ��
�
1√
3
, 2
3

�
, q′ < 0� q(p) �
 %�����
��"#

��9����������" q(p) � ����  � "�� 3
�

3p�−1
1−3p+3p� +

1−4p+3p�
1−3p+3p�

3−6p
(1−3p+3p�)�

�
# 8�� ��� %�)

���������
 ��� �"��� ��
�����@ ��� $�
� ��������� �
 ��
����� 	�� p > 1√
3
� ��� 
����%

��������� �
 ��"����� 	�� p ∈ (1
3
, 1)� ��� ����% ��� �
 ��"����� 	�� p > 1

2
# /�����

q′′ > 0� q(p) �
 
������� ������ �� ��� ��������  ���� �� �
 %�$��%#

(�
�����)����
 �% ����������� ������� ���
��� 8 
�1����� ���%����� 	�� ��� 
�"�


�	 ���
 ��% ����� %���������
 �� �� ��� 
��� �
 �� ��� ��
����� �


1 + s > � ��% p∗ <
1

1 + s− �


� 
�� ���� ���
 ���%����� �
 ��� ���� ��
��������� ������ ���� $�
� ���&������ ���)

������ ���%
 	�� ��� �����
 �	 s ��% �  � ����; �	 �
 ����
����# 
�� 
����% �����

���

�
 
���
$�% 	�� ��� p∗� �	 �� �
 	�� p∗max =
2
3
. �� �����  ��%
� �� ��������� ���%
 	�� ���

����������� �	 s ��% � 
��� ���� s− � < 1
2
# 4�	�����" ���; �� ��� ����
���� ���"�
�

	�� ��� � ���
 ���%����� ���%
 	�� s ≤ 1
2
#

B������� 	�� dp

d

> 0  � ���� �� �%% γ > 1

7
�� "������� ���� ��� ���� 1

γ
− 1 %��


��� ��� ��"� ��� ��"����� q + pq′.

�C



 ���% �% ��� �������
� �q < −p∗�q′ 3��""��" �� �����

���
 	�� q ��% q′ ���� ���

���&������ ������%�  � "��

(2− 3p) (1− 3p+ 3p2)
3 (1− 4p+ 3p2) < −p

(2− 3p)
�
1− 3p + 3p2

�
< −3p

�
1− 4p+ 3p2

�

3p2 − 6p+ 2 < 0,

 ���� ���%
 	�� p ∈ (1 − 1√
2
, 1 + 1√

2
)� ��% ����� 	�� ��� �������� 	�� �
 ���������

1√
3
, 2
3

�
#

*�������� �% ��� ������ ����� �
 ��
��

�
� ���� 
� ����
��"��� 
�������� �	 ���


���%� 
���� �������������  � ���� �� ��;� � � �������������
# B��
�� ���
�%��

��� 
�
��� �� ���������
 ����+ ���
 ��;�
 
��
�� �	  � ���"��� ���� ���� ���

��� ��������� ��% ��%���%���
 ��%��� ����� ���
��� �� ��%����" %���
���
 �����

%��� ������ ���� $���" �� ���� 	�� �  ���� ����# '� ��� �� ���� ��� 
�
��� �	

�&������
 �


qτ+∆ = qτ +∆f(qτ , pτ),

pτ+∆ = pτ +∆g(qτ , pτ);

��% ������" ∆ �� ���� 
���� > 1
365
� �	  � ����; �	 %���� ��%����"?� �� ��� �����  �

������

q̇ = f(q, p),

ṗ = g(q, p);

�����������

q̇ = 2q − 3q2 + q3 − 3pq + 6pq2 − 3pq3 − 3p2q2 + 3p2q3,
ṗ = α (BR(q)− p) ;


�� 
�������� ������ �	 ���
 
�
��� �


�
∂q̇

∂q

∂q̇

∂p

∂ṗ

∂q

∂ṗ

∂p

�

=

�
a11 a12

a21 a22

�

�  ����

�.



a11x = 2− 6q − 3p+ 12pq + 3q2 − 6p2q − 9pq2 + 9p2q2,
a12 = −3q + 6q2 − 6pq2 − 3q3 + 6pq3,
a21 = αBR′(q),

a22 = −α.


�� �������  ��� ���
 	���������� �
 ���� ��� ��
� ��
���
� 	������� �
 ��� ���)

������
 �� ��� ����� �	 
���%� 
����� 
�  � ��� ��� ������� BR′(qss). 
� "� �����% ���

 � ��� ��;� ��� 
����% �������������+ ��
���% �	 ��� %�
���������
 ��
� ��
���
�

 � ��;� � ���������
 	������� ABR(q) = Φ
�
�c(q)−c
σ

�
,  ���� ���������
 BR(q) =



0, �	 �c < c

1, �	 �c > c
 ��� σ → 0. ,�������������� Φ �
 ���������� %�
��������� 	������� �	

� 
���%��% ������ ���%�� ��������# 
��� ABR′(q) = φ
�
�c(q)−c
σ

�
�c′(q)
σ
. 4�������" ���

�����

��� 	�� �c(q) ��% ���������" �� 
���%� 
���� >�c(qss) = c?�  � "��

ABR′(qss) = φ (0)
(1− γ) c

σq (1− γ + qγ)
⇒ a21 ≈

α (1− γ) c√
2πσ2q (1− γ + qγ)

.

G��� ����  � ��� ��;� a21 >
���� �� �
 ��
�����? ��������� ���"� �� ��;��" σ 
����

����"� ��% ���
 "�����" ������ ������������� �	 ������� ��
� ��
���
� 	�������#

G�  � ��� ���%� �� �%��

 ��� &��
���� �	 
�������� �	 ��� 
���%� 
����# �	 ���

���� ����
 �	 ���� ��"�������
 �	 ��� 
�������� ������ ��� ��"������ ��� 
���%� 
���� �



����� >
��� 	�� �������� /��
�� ��% =���� >5.-D?# 
�� ��"�������
 �	 ��� 
�
��� ���

λ1,2 =
1

2

�
a11 + a22 ±

�
(a11 − a22)

2 + 4a12a21

�
.

B��
�  � 
�� ���� ��� ���� ����
 �	 ��� � � ��"�������
 ��� �%�������# 
��
 �


�&�������� �� 
�� ��" ���� ��� 
&���� ���� �
 �� ���"����� ������� �� ���� ���

�����

��� ��%�� ��� 
&���� ���� �
 ��"�����# ��%��%� 
���� a11 − a22 �
 ����%�% ��%

a21 �
 ��������� ���"�� ��� 
&���� ���� �
 ���"������ �	 a12 < 0. ��� �
 ���� �� �
 �

	������� �	 q, �
��" ��� 	��� ���� �� 
���%� 
���� p =
3q−3+

√
9(1−q)�−12q(q−2)

6q
:

7�
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8

6

4

2

0

x

y

x

y

8
 q �
 %��������% �� ��� �������� [0, 1] , a12 ≤ 0 > ��� �&������ �� ��� ������
?�

� ���� ��� ���� ����
 �	 ��� ���� ��"�������
 ��� �%������� ��% �&��� �� a11 + a22.

�� �
 ��	� �� %�������� ��� 
�"� �	 a11, 
���� a22 = −α. '� ���� �� �
 � 	������� �	
p� �
��" ��� 	��� ���� �� 
���%� 
���� q = 2−3p

1−3p+3p� :

0.650.6250.60.575

0.1

0.05

0

-0.05

-0.1

x

y

x

y

8
 p �
 %��������% �� ��� ��������
�
1√
3
, 2
3

�
, ��% �
 !��� �� ��� ������
� a11 < 0

75



	�� ��� �������� �����
# /����� ���� ��"�������
 ���� ��"����� ���� ����
- ) ��� 
���%�


���� �
 
����� �� ���������
 ����#

 ������������ �% �������
� 4����� ���� ����� ��� (1− q) ����
� ��������
� ���� �	

 ���� ���� ������� ����
� ��% ��� ���"�� �������  ��� ����������� 2 (1− q) (1− p) q�

�� � � ��� ���"�� �������
  ��� ����������� (1− p)2 q2. =�����" ���
 "���


����������� �	 
 ������"#


���� ��� ��
� (1− p) q ��� ���"�� �������
# (1− q)2 �	 �������� � ����
� ���)

���� 2 (1− q) (1− p) q ���� ������� ��� ���"�� ��% �� ����
�� ��% (1− p)2 q2

���� � ��� ���"�� �������
# 
�� 
�� �
 ����������� �� ������ � �������#

 ���% �% ����������
 �" =�����" >57? 	�� ��� 
���%� 
�����  � "�� q =
3(1−p�)−

√
1+12p−18p�+8p�−3p�

2(1−p�) #

<�� ��" ���� 0 ≤ q ≤ 1�  � ������ p ≤ 2
3
	�� ���
 
���%� 
���� �������� �� ���%#

B�� p > 2
3
��� 
���%� 
���� 
������� �
 ������  ��� q = 0# B�� ��� ��������


�������� 
�����" >57? �
 ���&������ "���
 ��� 
��������
 �	 �����
�����#

 ���% �% ����������
 �" '� ���� �� "�� �������� �����

���
 	�� q′ ��% q′′� ���"

���� ���� ��� 	������
 >�?)>C? ��% �������� ���
� �� ��� ��
����� ��������� ���)

��
 >	�� ���� p∗ ≈ 2
3
?# 
��
� q′= p�

4p�−8p�+4

�
18− 6

�
12p− 18p2+8p3−3p4+1−18p2

�
−

1
2p�−2

�
18p−12p�+6p�−6√
12p−18p�+8p�−3p�+1

− 6p
�
; q′′ = p

4p�−8p�+4

�
36− 12

�
12p− 18p2+8p3−3p4+1− 36p2

�
+

3 p�

6p�−6p�+2p�−2

�
18p2+6

�
12p− 18p2+8p3−3p4+1− 18

�
+ p�

4p�−8p�+4

�
6 18p−12p�+6p�−6√

12p−18p�+8p�−3p�+1
−36p

�
+

p�

4p�−8p�+4

�
−36p− 3 24p�−36p−12p�+12√

12p−18p�+8p�−3p�+1

�
+ 1
2p�−2

�
24p−18p�−18√

12p−18p�+8p�−3p�+1
+ √

12p−18p�+8p�−3p�+1+12p
√

3��""��" �� ���������
�  � "�� dp

ds
= −0.258 26 < 0, dp

d

= 0.043 > 0, dp

dγ
= 0.08

6 > 0#

 ���% �% ����������
 �" 
�;��" ��� %��������� �	 q(p) "���


12(1−p�)
�
−p−(1+12p−18p�+8p�−3p�)

−
�
� (1−3p+2p�−p�)

�
+p�

�
3(1−p�)−

√
1+12p−18p�+8p�−3p�

�

(2(1−p�))�
.
�� %�)

��������� �
 �� ��
 ��
�����@ �������" ��� ��������� 
�� 
 ���� �� �
 ��"�����

�� ��� ��������
�
0, 2

3

�
# 
��
 ����%
 ��� 
�������� �	 �����
�����#

 ���% �% ����������
 �� 
�� 	������� %���������" 
���%�)
��� ��������� ��� ���

q ��% p �
 ���������� "���� ��

-B�� ��� ������
 � �√
�
, �� ��%

�
�

�
, �
�
���� ��"�������
 ��� ����� λ� � �, λ� � −α,  ���� ��� ��

����;�% %������� �� %����� 
��
�������� �	 p ��% q  ��� ���
� ���������� �����
# �� ��� ��
�� ���

������ 
�������
 ��� ��� �	 ������
� �� �
� 
���� ���� ��� ��� ��
����% �� �������#
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q = q(1− p)(1− β) + β(1− qp)2 >85?

B��� ���
  � ��� 
�� ���� �� ��� %����� (0, 1) ��%  ��� ��� ���"� (0, 1), q(p) �


� ��� ���������
�� %�9����������# E� ������� %�9����������" ��� 
���%� 
���� �����

���

 ��� ��
���� �� q ��% p�  � "�� dq

dp
= q(2βpq−1−β)

p+β+pβ(1−2pq) . 8
 1− 2pq > −1 ��% pβ < p, ���

%���������� �
 ���)��"�����# 8
 2βpq < 2β < 1 + β, ��� ��������� �
 ���)��
�����#

/����� q �
 ���)������
��" 	������� �	 p.

��9����������" ��� 
���� �	 q(p)  ��� ��
���� �� p�  � "�� � �����  ��� ��
����� %�)

��������� (p + β + pβ(1− 2pq))2 ��% ��������� q′
�
4qpβ(p+ β + pβ − qp2β)− (p+ β + pβ + β2 + pβ2

4q2pβ(qpβ − β − 1) + q(2qβ2 + 2β + β2 + 1),

 ���� �
 ������% �� �� ���)��
�����# 
� ����� ���
� � $�
� 
�� ���� qp ≤ 2
5
.

=�����" ��� �&������ 85 	�� qp  � "�� qp = 1
2

�
1
β
+ 1−

��
1
β
+ 1
�2
− 4 (1− q)

�

.


� �
�����
� ��� ���&������� �����  � ���� �� 
�� ���� 1
β
+1−

��
1
β
+ 1
�2
− 4 (1− q) ≤

4
5


��
 �����

��� �
 ������
��" �� q, 
�  � ���� �� $�% ������� ����� �	 q,  ���� ��

��� $�
� ���� �	 ��� ���
��� �����
����� �
 �������% �� p = 1. 3��""��" �� ���
 �����

���� 85  � "�� q = β(1 − q)2 ��% ����� q = 1 + 1
2β
− 1

2

��
2 + 1

β

�2
− 4. ,�������"

� � �����

���
� ��� "��


1

β
+ 1−

�����
�
1

β
+ 1

�2
− 4



 1

2β
− 1
2

��
2 +

1

β

�2
− 4



 ≤ 4

5

�
1

β
+
1

5

�2
≤
�
1

β
+ 1

�2
− 4



 1

2β
− 1
2

��
2 +

1

β

�2
− 4





2

5β
+
1

25
≤ 4

β
+ 1− 2

��
2 +

1

β

�2
− 4

18

5β
+
24

25
− 2

��
2 +

1

β

�2
− 4 ≥ 0

�
9

5β
+
12

25

�2
≥
�
2 +

1

β

�2
− 4

56

25β2
− 71

125β
+
144

625
≥ 0

77




�� ��
� �����

��� �
 � �������� �� 1
β
�
 �� ��"�����@ �� �
 �� ��
 ����� ��� x

���
� ����� ��� �����

��� ���%
 ����  ��� � 
����� 
�"�# 
��
�  � �������� 
�� �%

���� qp < 2
5
.

G� � �� �
�����
� ��� 
�"� �	 ��� 
����% %���������� �� �
 ����"� �� 
�� ����

4qpβ(p+ β + pβ − qp2β)− (p+ β + pβ + β2+ pβ2) ≤ 0 ��% 4q2pβ(qpβ − β − 1) +
q(2qβ2 + 2β + β2 + 1) ≥ 0.

B��
�� �� ���� ��� $�
� ���%����� �
 p + β + pβ + β2 + pβ2 + 4q2p3β2 ≥ 4qp2β +
4qpβ2+4qp2β2. G����� ���� ��� ��"�� ���% 
�%� �
 
������ ���� 8

5
β(p+β+ pβ). 
���

�� �
 ����"� �� 
�� ���� p+ β + 4q2p3β2 ≥ 3
5
β(p+ β + pβ)# ����  ������ ��� ����

���������" q, ��� ���&������ ���%
# 
� 
�� ����� ������!� p+ β − 3
5
β(p+ β + pβ)  ��

p. =���� ����� �
 � "����� ������� �� p|0 < p < 1, ��� ������� �� ���
 ��������


����% �� �� ��� ��� �	 ��� ���%��
# 8��  � ���� �� %� ���� �
 �� ����; ��� ���&������

�� ��� ���%��
� ������ 	�� p = 0 ��% p = 1. B�� ��� 	������ β − 3
5
β2 ≥ 0 ������
��@

	�� ��� ������� 1 + β − 3
5
β(1 + 2β) = 1 + 2

5
β − 6

5
β2. /���� �"���� ��� "����� �������

�
 �� β = 1
6
, ��� ������� �
 ������% �� β = 1; �� �
 1

5
> 0. 
��
�  � ���� ������ ����

��� $�
� ���%����� �
 
���
$�%#

=����%� �� ���� ��� 
����% ���%����� �
 q(2qβ2+2β+β2+1+4q3p2β2) ≥ 4q2pβ(β+
1)# 
��
 ���%
 
����"��	�� ��%��# =�� q′′ ≥ 0, ��% ����� �� 
���%� 
���� ��� 
���� �	
�������" �
 � 	������� �	 ��%����" ����������� �
 ������#


� 
�� ���� q + pq′ ≥ 0 ���%
  � ���� ���
 �����

���+ y = q + p q(0.2pq−1.1)
p+0.1+0.1p(1−2pq)

1

0.75

0.5

0.25

0

1

0.75

0.5

0.25

0

1

0.75

0.5

0.25

0

q p

y

q p

y
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� ����� ������������ ��������� ���� >3�4?�  ����  �
 �����
�% ��% 
�� � �� ��

������� �� =����" >5..C?�  � ���� �� ��%�	� ��� 
���� 
��"����# 
�� �������  ���

���
 ���� �
 ��� ���% �� ;�� ��� ��"��
� ��% ��� �� �
� ����9
 �	 ��� �"���
�  ����

 �
 �

���% � �� 
� 	��# 
��
 %��
 ��� 
��� �� �� � ���� 
����" �

������� ��

��;�+ ������ ��� ;�� ��� ����9 ��% 
���� ��� ���
�� ������� 
�����"�� (�
� �����
�

���� %� ��� ;�� �� �� %� ��#

8����%��" �� ��� ����� ���� �"��� ����
 ���� ��� ����� ��% ������� ��
 
�����"�

 ��� ����������� ������������� �� ��� ����9 %�9������� �	 ���
 ����� ���	����% ������#

4����� ���� ����� ����9
 �	 ��� "��� ��� (1 − t)H − st(H − L) �	 ���"��� (1 − t)H

�	 ����
�� ��% H − tL �	 ��� ���"��# 
�� %�9������ ��� ��� ��� ��"��
� ��% ���

�� �
� �
 (1 + s)t(H − L), ���%�% ��� ���
 � $��# 
��� ��� ���"�� ������� �����


 �����
@ ����
� �������� ������" ��� ���"�� ��� 
 �����
  ��� ����������� 1
1+s
; �

���"�� ������� ������" �� ����
� �"��� 
 �����
  ��� ����������� s
1+s

.


��� ��� �� �	 ������ 	�� & �
 "���� ��

1− q(τ + 1) = (1− q)[1− q(1− p) 1
1+s

+ qp s
1+s
],

 ���� ��� ��"�� ���% 
�%� �
 �"��� �� ���� τ .

B��� ���
 �����

���� ��� ���������� �	 �������
 ������
�
� �	 p < 1
1+s

, ��% %�)

����
�
 ����� �
�# 
��
�  � "�� ��� �������" �����% p = 1
1+s

��% q = q(c) �"���#

������
���"��� ����  ��� ������������ ��������� ���� ��� �������� ��
� ����� �
 �����
���

��� G�
� �&��������� �	 ��� 
����� "���# �� ������
 �����
� �� ��� ���
��� 
����$��)

���� ��� �"���
 ��

�

 ���� ��	�������� >����� ����9
? ��% ���� ������ 
����
������%

�������" ������&��#
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